SET-X

- Code-A
P"';:’mi Questions
1. , Which of the following is not considered a part of ledger?
(1) General: ledger @) Firm
(3) Debtors 1) Creditors
ﬁﬁ%@aﬁﬁﬁ?—m@m—aﬁwmqfﬁwm%?
(1) IEN GE-g8 Q) w4
(3) IER 1) FAER

Which of the following statement is not correct?

(1) Receipts and payment is a real account

(2) Income and expenditure is a nominal account

(3)  Income and expenditure account relate to previous, current or following
" accounting period

(4) Non-cash items are not shown n rece

MR § & P-ar pud wd T8 20

(1) =% & Jre o arais w2

(2) I T 7 U THEE @R R

(3) A 791 2 T B, Awq otgar s S oy @ wefee drr &

(@) Tz W& A afT e e aR o agtar o

!\0

ipis and payment account 5

3. | Which of the following is an accounting convention?
(1) Convention of separate and entity

(2) Convention of conservatism

(3) Convention of cost concept

(4) Convention of money measurement

Ffafga 4 #9-91 w6 agieT aRaer -
(1) 99% 991 351 & Rard

(2) HE"ER F qROE

(3) WM F%Eg F OGRR

(4) 7 H199 F gired
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A, Conservatism

[ 4. { Mateh the following:

B, ull disclosure
C. Consistency
D, Materiality

(1) A-iv, B, C-ii, D-iij
3)  A-ii, B-iii, Ceiv, D-i
Frifefee e i afifo,
(%) e

(&) 9of gepesy

(M ferean

() e

(1) F-iv, G-i, 7-ij, H-111
(3)  F-i1, G-iii, T-iv, g-j

—

(1) Full and cleay Information

(i) Unchanged accounting practices

(i) Relevant details

(iv) Anticipate no profit but provide for all
possible losses

(2) A-i, B-i, C-i, D-iii

(4) A-iii, B-iv, C-iii, D-i

(i) ol a9 72 S

(i) Auialde saigy gum

(iti) Ui gy

(iv) [l @ %1 amman o7 #5% T A4l i
el & R g a5y

(2) F-i, G-i, -1, g-ii;

(4) F-iii, G-y, T-iii, 5

<

(1) Cash account
(3) Capital account

(1) g @t i
(3) Tt @ §

The amount brought in by the proprietor in the business should be credited to

Wﬁﬂﬁmmwwzﬁ%&%qrmm%ﬁ:

(2) I)rawingaccount
(1) Proprietor account

(2) AR =Ry
() @ % ey §

(1) Landlord account
(3) Cash account

() @& g §
©) WEary

6. | The rent paid to landlord be credited to

mﬂmemmmm:

(2) Rent account
(1) Drawing account

2) & gy &
(4) AR @y H
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8. Profit and loss on depreciation fund Investment is transferred to
(2) Assets account

(1) Profit and loss account
(3) Depreciation fund account (4) Reserve account

TR [ a9 o3 @t qur e 2 siaf e o 3
(1) & a1 e @ # (2) 9EER  m

(3) Tge™ MY @ 4) 99 @ §

The interest lost on acquisition of an asset is taken nto account in calculating

depreciation
(1) Depletion method
(3) Diminishing balance method

0% GRE & SR W S @ e B e & o ¥ e ¥ v o
(2) arfte fafy

'(2) Annuity method
(4) Straight line method

(1) R fafy
/ /(3) gedl 99 fafy
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10. | Which of the following 18 a clerieal orror?
(1) Type A error (2) Type B error
(3)  First class error

(1) Compensating error
Fifoiag & @ @e-d o el gfe 8
(1) "R A gfe

(2) g% B
@ gaw A g () efagfd Ffe -
11. | Sales to Ram 336 rupees posted to his account as 363 rupees would affect
(1) Sales account (2) Ram's account
(3) Cash account () IFirm account
T T B 336 B F 36 @A 363 w9y & @y § e AT TS0 aEEd
FAM:
(1) R @ (2) M %1 @
(3) B @Al (1) WM @l
12,

/ 1,

Goods purchased from A for Rs. 2000 passed through the sales book the
rectification of error will result in

(1) Increase of gross profit

(2) Dccrease of gross profit
(3) No effect on gross profit (4) Increase in firm valuation
2000 &. 9

Aﬁaﬁmwwﬁaﬁwﬁaﬁwawg&@r{%
RO EY-

(1) §%T a9 %t gf enfr

(2) |%S &9 H w1 ERly
(3) WFT AW G HIE YNG T () W % g § gfe Al

|

A sale of rupees 100 to A recorded in the purchase book would affect
(1) P'saccount (2) Purchase return account

(4) Both (2) and (3)

mwﬁaﬁAﬂloom&aﬁﬁﬁﬁwﬁaém -
(1) P & @

@) #F a9 EE
(3) T @

(3) Sales account

E}-EE-June-2025 (Commerce 4 Ye

() (2) 7 (3) 2

: ‘| ; 1 . 00

(% CamScanner

»
ER—
s

S

b


https://v3.camscanner.com/user/download

SET-X
Code-A

Thi :
Which of the followmg is elemeng op the dat
(1) Data

(3) Relationship

a base
(2) Constraint and Schema
4) All of above

(2) = For =Sy
(1) I gy

of data representation?

(1) Data (2) Schema

(4) Relationship

(1) 3Tzt (2) =B
(3) aryra ' (4) H9g=yg

16.

In which entry mode does a company allow another company in a foreign
country to use its intellectual pr operty for a fee?

(1) dJoint Venture (2) Exporting

(3) Licensing (4) Contract Manufacturing

ﬁ?ﬁﬁﬁfﬁ?ﬁ@mﬁﬁﬂﬂﬁ%ﬁﬁ%ﬂﬁmmwﬁrﬁw%mm
a’r@mmma@vasﬁa%eﬁqﬁéﬁl%?

(1) TgF I @) ﬁzﬁa
/(3) AEERIT



https://v3.camscanner.com/user/download

Code-A
/Q“Isf)‘_jon/ Questions
19,

p 2
as partial or full payment aftey supplying technology or capital goods’
(1) Offset ) Barter
(3) Buyback (4) Switch trading

1) SR (2) 77y faf
3 I Fie @) fg
18. | What is the primary objective for 4 Multinational Corporation (MNC) to|
engage in FDI?

(1) To avoid currency exchange
(2) Toinvest in domestic stock inarkets
(3) To gain control over forei

(4) To only generate interest
wwm_(wwm
(D 1 A7 § 999 2 /@
@) Y =Y TR F FFy 2

3) WMWWW@@WWWW%W
4) %ﬁ%ﬂﬁmmmm%m

gn production and access new markets
income abroad

%m%émmwmaﬁww%?

19,

Which document defines the objectives and s
(1) Articles of Association
(3) Prospectus

cope of activities of 5 comb:my?
(2) Certificate of Incorporation
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20.

In an LLP, the liability of Partners is limited to:

(1) The entire debt of the firm

(2) Their personal Property

(3) Their capital contribution tq the LLP
4) A fixed amount set by the government
T H, e 3 Y b B &

) %1 % Tt 59 4%

@) T e w0

@) wEd B T o A

@) &R T P @ M oy o

21. | Which of the following is not a feature of private company?

(1) Restriction on transfer of shares

(2) Can invite the public to subscribe to shares

(3) Minimum 2 and maximum 200 members

(4) Must use "Private Limited" in its name
Frfafaa & | MR- & el T @ fdea 18 ¥
(1) &igf & ofaeo | ufady _

2) S F e 3G SIEE & T TR & wh ©
(3) gTaH 2 TUT SAHAH 200 TWHE

(4) @ W T e ffRe @I N A |
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22,

: c
Under which Act are Government Companies registered 11 Todie}
(1) Indian Partnership Act,_ 19392
(2) Companies Act, 2013
(3) Industrial Policy Act, 195¢
(4) Government Enterprises Act, 2005 ; A %7
B S $ ST 9T § e gt e & T
(1) R AmgErd sifafas, 1932
(2) F afafEm, 2013
) SIEfE Hify st 1956
() & S i, 2005

"y

23. | Which type of account is

frequent and large transac
(1) Savings Account
(3) Current Account

ﬁﬁawasr@mam?ﬁrwaa
ﬁ?—%ﬁfﬁ%aﬂaﬂaﬂ‘eﬂﬁ}%‘?

(1) I99 FEr (2) 9Efy s\ @ET
(3) 3g @ (4) e = @

generally dpened by businesses that require
tions?

(2) Fixed Deposit Account
(4) Recurring Deposit Account

Wﬁm@mw%ﬁ%mw@

—

24,

What does UPI stand for in digital payments?
(1) Unified Personal Identification
(2) United Payment Integration
(3) Unified Payments Interface
(4) Universal Payment Identity

ISheeT STt & gionE @ @ ang 32



https://v3.camscanner.com/user/download

SET-X

Questionl il COde—A
[ W Q’uestions
25. {Which of the following i n

3)
(4)

(1)
(2)
(3)
(4)

W@ﬁﬁéﬁ?—ﬁﬁﬁ%@ﬁ%@ﬁ@%ﬁ@ﬁﬁﬁ%ﬁﬂﬁ%z

ot e ‘isti
a characteristic of preference shares as a

source of finance?
(1) Fixed rate of dividend
(2) Voting rights in al] decisiong

Priaei :
riority over equity shareholders in dividend payments

Less risk compared to equity shares

SIEIMECINE Fen ey

a4 it F g @ ot

T STAT H FH SR gerr ¥ e
AT il # g § B9 Afew

26.

(1)
2)
(3)

(4)

What is the main advantage for a foreign company to issue ADRs?

it & Frfa 2g R RRe e @ fl ge o e
(1) wﬁﬁmﬁqgmﬁﬁ@%ﬁmmﬁ%

(2)%3%@@@3%%%9@@% :
(3) %aﬁﬁﬁﬁ%mﬁ%a@wwu@amm%am@wm

It allows them to raise capital in their domestic currency
It exempts them from U.S. securities regulations

It provides access to the large pool of U.S. investors and increases
visibility

It avoids exchange rate fluctuations

UG-EE-June-2025 (Commer __
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27. | A patent is granted for an: e 2]
(1) Artistic work (2) Original musical compositl
(3) Invention (4) Business name
¥ fegr s @ o
(1) FaHE 3o 3 fom (2) A difs = 3 0
®) oMIHR B R (4) =EEm & a9 % A

—

28. | Which of the following is NOT a stage in the entrepreneurship development

process?
(1) Project implementation (2) Idea generation
(3) Retirement planning (4) Business plan development
ﬁw%@aﬁﬁﬁq—mwﬁmﬁmmﬂ@maﬁ%
(D) 9RFEAT gy (2) fa=m fHmo
(3) gl Frdrr (4) =ZEE™ I e
29. | WTO replaced which earlier organization?
(1) IMF (2) GATT
(3) UNCTAD (4) NAFTA
ST T o 0d 6T 3 o fear?
(1) o w7 u% 2 =
(3) HFe= (4) e

30. | Who issues a Letter of Credit?

(1) Exporter (2) Importer

(3) Bank on behalf of the Importer  (4) Customs authority
HE-09 39 A ey 27 |

(1) fgigs Q) .IEEE

(3) ST % S & ¥ @) dm-g= T
TG—-EE—June-2035 (Commeree 4 Year) Code-A e
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31. | Donation received fop 5

Special purp

ose will b : :
(1) Income and Expen 1l be taken into whi

! ch account
diture account

(2) Assets side of the Balane

(3) Liabilities side of the Balance sheet

(4)  Both assets anq liabilities side

ﬁm%wwwﬂmmmﬁmeWNM?
(1) 9 T4 =9 @y |

2) e #1 ofaefy gy
(3) @ o1 3gar oy

(4) 9rREhRy qer g gy A

e sheet

32.

Legacies are generally

(1) Capitalized and taken to balance sheet
(2) Treated as Income

(3) Treated as Expenditure

(4) Either (1) or (2)

frEd @ emE 1

() GOl Fe o orgd e o 2
(2) 9@ % w0 ¥ FEgd o R

3) @@ & w1 ¥ ZEd o @

(4) T (1) JGd (2)

33. | The nature of receipts and payment account is:

(1) Real account |(2) Nominal account
(3) Personal account_ (4)7Both (1) and (2)
o o WA @ % o @

(1) aies S (2) A Bl
3) @@ @ @ I

» A
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34.

ROGRNE.
E - hest if the majority 01*

-]‘]10 value Of‘thO gDOd\vJH n the business \Vi“ bt‘ h]gh(,bt

the customers of firm are in nature of:

(1) cats (2) dogs

(3) rats (4) none of above , Q_LE% !
Wﬁwwwmaﬂnaﬁw%mﬂagﬁ@ﬁq bt
(1) %29 (2) =g

@) g 4) I F @ FE

35. | Which one is not the
(1) Name of firm
(3)  Commission, Salary (4) Fluctuating Capital
, ﬁ?—zﬁmﬁﬁé@ﬁeﬁé@ﬁﬁ?
/' (1) %% %1 am (2) AEEM ety

contents of partnership deed?

(2) Duration of partnership

3)  FHI9E, @) Gt F gaR-gem
36. [ In the absence of Partnership Deed, partners are not entitled to receive

(1) Commission (2) Interest on Capital

(3) Salaries (4) All of above
a@mﬁﬁﬁaaﬁﬁqﬁuﬁrﬁ,m@rmmwa@mﬁ%

(1) FHier (2) 9ol T =

(3) 3T (4) I T -

37. | When the time of withdrawals are not mentioned, Interest on drawing is
charged

(1) For 6 months (2) For 8 months

(3) For 12 months (4) For 10 months

9 STETT N GHY Ifcwiid T ), a9 ST 9T A q9iRe R sy &
(1) 6 9% & fig (2) 8 9 % form
3) 12 7 % R 4) 10 9% & foyu

. UG-EE-June-2025 (Commerce 4 Year) Code-A
E (12)
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38. :::ﬁi:)?e of the adjustment not required at the time of admission Ba
(1) Adjustment of Goodwil]
(2) Adjustment of Profit sharing ratio
(3) Adjustment of Capital
) .-\‘djustment of balance sheet
P-H FERE T AR 3 R S T oEes R
(1) € F GEee (2) T TR FOa ¥ T
3) T F wAEEE @) &2 =1 TE
39. | Gaining ratio means
(1) Old Ratio — New Ratio (2) New Ratio - Old Ratio
(3) Old Ratio —Sacrificing Ratio (4) New Ratio — Sacrificing Ratio
T AT H A B
(1) JOrit ST WA S ey TN SCTIN = S e
(3) G SIFUR — T FI () T TP - AT A
40. | Realization Account is:
(1) Personal Ale (2) Real Ale
(3) Nominal Alc (4) None of above
TGl T & :
'(1) St 2) Gl cEAREI|
(3) R S @ I 3R 3K

UG-EE-June-2025 (Commerce 4 Y;f:gr) Code-A
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41,

Partner's current account are transferred into

(1) Partner'sloanaccount  (2) Partner's Capital account
(3) Both (1) and (2) (4) None of above

HRER & O @ B @A i e

(1) WEER & %7 @Q § ©) wEEw § i @ A

® (1) 7@ @) IR § q BE T

42.

All books of accounts is closed, when

(1) Dissolution of Firm (2) Dissolution of Partnership
(3) Both (1) and (2) (4) None of above

i at & g @ A R o 3, o

(1) %4 %1 fEe & @ @) "ErErd # faued g @
(3) (1) T (2) A (4) I # & B¢ T

43.

(3) Ty 5 wEER
(4) SFTH 20 AEER

A banking partnership firm can have
(1) Not more than 50 partners
(2) Not more than 10 partners

(3) Not more than 5 partners
(4) Not more than 20 partners

T 4T A w6 A 8w g
(1) ST 50 TEER
(2) e 10 aRRR

: UG'EE-June—2025 (Commerce 4 Year) Code-A
Y (14)
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44. | Depreciation fund
to

at the t;
7 . lln . .
¢ of admission of new partners are t £
S are transferpeq

( l ) l\(.,‘t'l()llll—l()l] 4L &/ :a ) " . { ' . « I [\ »
( ) 1 al n(-l L= _J(ip a C(..O‘lnt,

(3) Both- (1) and (2) (4) Neither (1) nor (2)
q&ﬁ@wﬁ%ﬁw%wwmﬁﬁﬁmﬁaﬁmm%-
(1) 94199 9y (2) WEER & ol @R 3 |
3 ‘ [

(3) (D T (2) M (4) T & (1) & (2

45, o 8 & ar ar 1

5 A, B and C are partners in a firm. If D is admitted as new partner
(1) Old firm is dissolved
(2)  Old partnership is dissolved

(3) Old partnership is reconstituted
(4) None of above

A, B T C TF $5 # §#E § | T 98N 3 &9 & 9 D 1 wy R
(1) 9 ®H @1 fEed B (2) [ weEr & fges am
(3) WEEM # GFlET B (4) I F FE

Debentures issued as collateral security for rupees 10,000 will be debited

46.
to
(1) Debenture suspense account

(2) Bank account

(3) Debenture account

(4) None of above |
dufedes ofrafy & w9 § fefd O % T 10,000 57 e B T

g |
(1) FOE A g A @ 9 @

UG-EE-June-2025 (Co

erce 4 Year) Code-A
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[ M .
e » realization of
: after the re
47. | The balance of sinking fund investment account afte

inwmtmtmt 8 transferred to

(1)

(3) Debenture account, (4) Sinking account

(3) HTH ay (4) fag aa %

jation account
2 ropriation
Profit and Josg account  (2) Profit and loss approp

hﬁwqﬁmﬁa%mﬁ%hﬁﬁ%m@ﬁmmwmmﬁﬂmmz
1) qar ey w5y 2) arq qe ey fafvom @ %

48. | Share p remium money can he used for

(1) Payment of dividends

(2) Writingoff'goudwi]l

(3) Issue of fully paid bonus shareg
(4) All of above

awmﬁunwmw{%mmm%:
(1) @rian & g 3 fom

(2) 99 % HyerET 3 k@

@3) T &9 9 sist & fpfy & o
(4) 3T A

49. | Shares which are not preference shares are called

(1) Equity share (2) Surrender of share
(3) Under subscription (4) Reserved and surplus
Sie1 S AR sier 7 B | weam ¥

(1) @Har siqr (2) 39T F FHIT

(3) F9 Ao (4) 99 91 At

uesti
No.

50

UG-EE-June-2025 (Commerce 4 Yet)lr) Code-A
. ; (16
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ESOP stand for

(1) Employee Stock Option Play
(2)  Employee Stock Option Premiym,

(3) Employee Share Option Plan
(4) None of the above

ESOP & amgmg § -

(1) W@uﬁwﬁm

(2) T =
(3) War&eisaﬁmﬁﬁrw R

(4) I § § P 79

SET-x

A prospectus for share debenture can b

(1) Public company (2) A Private Company
(3) Both (1) and (2) (4) Neither (1) nor (2)
aisrm%%ﬁﬂﬁawaﬁar&ﬁmmm%%aa

(1) dEss F= 9 zm (2) % 5 F o am

e 1ssued only by

@) @3 (2) @Fﬁ (4) = a (1) = 2l (2)
The stage of conceiving an idea and its working-up is called
(1) Prospectuses (2) Promotion
(3) Incorporation (4) Allotment
0% faaR # T 9 a1 3% FRAFaET @ T &) &ed § o
(1) st (2) Hag
(3) A (4) ST
53. | A debenture which does carries any charge on the assets of the company

(1) Naked debenture (2) Mortgage debenture
3) Ex interest (4) Debenture sinking fund
o FOE A FE A o O A S e e e

HOE (2) dud FOTIH
T m (4) For FEE
(3) - A

4 Year) Code-
UG-EE-June-2025 (Commerce an
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i

A price inclusive of the intere

st for the period for which the seller held the
debenture js called

(1)  Ex interest price (2) Cum interest price
(3) Both (1) and (2)

(1) Neither (1) nor (2)
ﬁm@ﬁfﬂ%fﬁﬁhﬁﬁr%memwmﬁﬁsmﬂﬁﬁﬁﬂ@ﬁ%
ST 8
(1) 99 =7 g

(2) 7z =& g™
(3) (1) agr (2) 2=

(4) 31 & (1) 7 & (©2)

Accoun ting Standard 16 deals with
(1) Depreciation of tangible assets
(2) Construction

(3) Bom'uwing cost

(4) None of the above

Tl TH1Y 16 grafeq ® -
M) g =l 3 gemEm @ (2) fmfor @
(3) H:9 P @ (1) 39 # q i 75

56. | TDS stands for
(1) Tax deducted at sources
(2) Tax deducted at share
(3) Tax pair deducted at sources
(4) All of the above
ST F e B

(1) B 9T 3 Fd (2) 99 W 7 %) Fod)
(3) HIl W T g 47 A (4) I90F gefr

";UG—EE-June-2025 (Commerce 4 Year) Code-A

(18)
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I

57.

TAN stands fOl‘
(1)

(4)  Both (1) and (2)
ST | 3y g

‘ fsteay; 9) FHT © ;
@) T (1) 5 b (2) FT FUE9 g &=

58.

4) (1) 72 (2) 3=
i O

What is the -
main ur . . Y
statements? PUrpose of conducting vertical analysis in financial

(1) T8 Compare fingpe
(2) To assess changes

(3) To express each it
base amount

(4) To reconcile financial statement with tax returns
i ﬁmﬁaﬁmﬁsﬁwmmwww%?
() #= i & g siest & T

(2) IO Rl § oReds 1 simaw 5 3 R

(3) %@rﬁ?ﬂuﬁmﬁmmaﬁwnﬁr%uﬁm%mﬁmaﬁ%
EE

() FT Pl 3 o i R 2 e 5 S R

1al data over several periods
In market share

€M In a financial statement as a percentage of a

59.

Which of the following is classified as a liquidity ratio?
(1) Operating Ratio (2) Current Ratio
(3) Debt to Equity Ratio (4) Return on Investment

Frefffee & PeR e o % 0 A e o T 7
1) TR S (2) =Y AFHA
(3) T T AT CRu b

UG-EE-June-2025 (Commerce 4

Year) Code-A
(19) ol
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-‘-_-""-*-—_...-—q e — . —— ———— - - —

e ——

60. | The Iny

entory Turnover Ratio is caleulated using:

(1) Net Income/Ay
(2)  Cost of ¢
(3) 'I'{lh‘ll:‘\HH(‘IH”!I\'i'l‘.ll“l"\'

1) Gross Ill't!ﬁI,fr'\\’('l'.'lu(' |lWl*|H.n|'y

EHHT a7 SR T oM A s b

(1) 9% 31 /sl gl 4

(2) Tl o) o TS %1 AT /v I @
@) Fm r-lfmmﬁqi/{-érft A

W) T a9 sivger T A
—..______________h________.____________

erage Inventory

1008 Sold/Average Inventory

61. | Which one of the following is not considered » solvency ratio?
(1) Debt to Equity Ratio

(2) I’roprict:u'y Ratio
(3) Interest Cover

age Ratio (1) Trade Receivables Turnover Ratio
¢ ﬁ@ﬁaﬁsﬁwﬂﬁwr;maﬁwarﬂr%?

(D) 3 H9e arqr (2) Tt spgure

(3) & S EEEIGH (4) 29 gy Hlged STTe
62. | What is the Primary objectiye of financial st
(1) To reduce taxes

atement analysig?

(2) Toincrease asset turnovey

(3)  To provide stakeholders with ye
(1) To calculate depreciation
ﬁ?ﬂqﬁmﬁrﬁwwmm:ﬁww%?

(1) # i 59 Fy

(2) 9t smed 2 e

(3) W%W%Wﬂﬁmﬁmmmwm_
(1) EET FT Er ey

levant data fop decision-making

-EE-June-2025 (Commerce 4 Year) Code-A
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3. | Under the indir
63 'nder the indirect method, which of the foll
e follow)

Quu'stion, B e A
FM)' QUGM\

(2) Depreciation expense
(3) Decrease in accounts payable
(4) Gain on sale of land

Gwa{m%aﬁﬁﬁqﬁa—mqﬁ_ﬁﬁﬁ :

(1) JoeT 77341 ¥ gfg 2) TR 7T
(3) ¥ @t 7 @) 9 A e W T

64. | According to AS 3, how is dividend paid treated in the cash flow statement?
(1) Operating activity (2) Investing activity .
(3) Financing activity (4) Not shown at all
AS 3 & ITIEN U%E WAE faver & @i §m 89 o o § 2
(1) e Tty @) e R |

65. ! Which one of the following adjustments is subtracted from net income in

the indirect method?

(1) IDepreciation (2) Loss on sale of asset
(3) Decrease in inventory (4) Gain on sale of asset

mamﬁgamﬁﬁﬂﬁf@ﬂﬁﬁmw@mﬂmw%?
(1) Hege™d (2) fmmfy @1 fal o e
(3) =1 § F (4) e 1 fesRl o A

UG-EE-June-2025 (Commerce 4 1((;1?1’) Code-A
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67,

art of getting thing
(1) Petey Drucke

s done through people™
(2) Mary Parker Follet
(4) Koontz and ODonnell
FE, T Sy “:quiqagmm;ﬁw%"?
L @ T qur g
D T @ T T e

Which of these jg NOT 3 fe
(1) Managoment 18 on]
(2) Manag

. . ‘)
ature ofmanagement listed in the book?
Y ascience

Cment g used eve
Mang geme

() Mana

rywhere

nt is continuoysg Process

68.

Which principle

says that an employee shoylq get orders from only one
boss?

(1) Unity of Direction (2) Equity

(3) Unity of Command 4) Order
ﬁa-mmm%%m%ﬁs%mmﬁmwmﬁmﬁmhm?
(1) RS9 9 vy (2) q9ar
(3) 39T & wamy (4) IRy
: t~-June-2025 (Comel-ce 4 1(7;22;1‘) Code-A
il
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Qm-st.ion
No.

J Vel z : . .
Which of thege is a Principle o

fTayloy

A :
8 Scientifie Mana

| ‘ . : ; ement?

(1) (,,entmlmatmn P

(2)  Scalar Chain

(3)  Science, not rule

. of thumh
(1) Inmitiative

70. | Who makes the missjon statement and goals in an organization?

(1) Top level management (2) Middle level] management
(3) Lower level management (4) Workers

TP WIS F feF aaTer qor @5 B e 2 7

(1) <Y & gage (2) 79 WX Heee

(3) =1 ®X weEeH (4) =

71 Which of the following is NOT a dimension of the general (contextual)
business environment?

(1) Economic ' @ Politi.cal -
(3) Personal (4) Technological B
Freiferfge & & -1 G (SIETE) A e H5

(1) s (2) TS
L (3) AR (@) S

' de-A
UG-EE-June-2025 (Comm erc. .Year Cé. —

et

i
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Questions _/_Q

F v 2 1 e & 1 S‘ ‘)
hat does the acronym PESTLE stand for in environmental analysis

W

(1) Political, Economic, Social Technological, Legal, Environmental
(2)  Political, Environmental, Structural, Technological, Legal, Ethical
(3) Political, Economic., Social, Technological, Legal, Ethical

(1) Productive, Economic, Strategic, Technological, Legal, Environmenta]

T frsdger § ofad g PESTLE & =71 a9 d 2 ?
D) Trfifcer, snfefs, e, e, [, e
(2) T, e, e, s, i, S
(3) ST, anifefe, qrfST, dEE, fafae, N

(@) 3, anide, o, aE, B, @i

How do socio-cultural factors influence business?

(1) They only affect internal company poliy

(2) They influence both demand and supply aspects of the business

(3) They are irrelevant in a market-driven economy
(4) They only apply to non-profit organizations

AGHE FI FHITE-TRETF BH B0 THFR T o 7
(1) 7 3 ol F0 A B g e ¥

(2) 3 Zqd@ % "7 a9 Nyl AN A wehe F ¥
(3) @ IeI A srefeaer § Aot ¥
(4)  Faq IR-aM e § an o §

EE-June-2025 (Commerce 4 l(;ea)lr) Code-A
7
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75.

Which of the following is not

a feature of sounq planning?
(1) Goal—oriented

2 Rigid
(3) Flexible (4) Simple
mﬁmﬂﬁﬁa—ﬁ-aﬁmﬁmﬁmw%
(1) . W-seeh @ T
(3) =t @) T

76. | SWOT analysis in planning refers to:
(1) Strategy, Work, Operation, Time
(2) Strengths, Weaknesses, Opportunities, Threats

(3) Systems, Workforce, Options, Targetta
(4) Standards, Ways, Objectives, Techniques

e o w@te fageer d@efia @ @
(1) Ff, A, qEEd, a5
(2) ofFTal FEAE, SRR, AR
(3) womieri, Fd-aw, faw, T8
@) W, ai, R, T

4 Year) Code-A
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perocs
Questiong
f i What type of plap 1s ug

—]
ed for one-time oy non-repetitive activities?

(1) Standing plan (2) Mastey plan
(3) Single-use plan (4) Contingency plan
%Waxwwmmmémﬁwwﬁmwmww
D) TR Gy @) AT Fey
) T 0@ gy @) e oy

78. Which of the following 1S not g characteristic of organising?
(1) Goal‘oriented () Division of work
(3) Micromanagement (4) Coordination
ﬁqﬁf@aﬁ@%ﬁﬂ@mﬁﬁﬁwﬁ%?
(1) WW-G:EI,@I 2) Fd 3 fawre
@) T yaym @) wH=y

79. | Which one of the fol]oy

SET-X
Code-A

Ingis a benefit of forma) organisation?
(1) Unofficia] rules

(2) Vague authority relationships

(3) Well-defineq responsibilitieg

(4) Casual delegation
ﬁqiﬁfaaﬁﬁ%ﬁ-m%@wﬁmﬁﬂmfmm%?
(1) eFiw=ie frag

@) 2 s way

() goitaiee afe

1) T i
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Delegation is best described ag:

80.
(1) Assigning responsibility and retaining decision-making

(2) Sharing profits with subordinates
(3) A:ssigning responsibility and authority to a subordinate
(4) Centralizing control

(1) @fa g aen Foas Jg & =g &

(2) AGIT F A a9 B GRAE # =9 4

@) e F1 afde g it don @ w9 o
@) o @1 kiEr & =y §

81. | What is the correct definition of staffing?

(1) Managing only unskilled workers

(2) Controlling financial resources

(3) Placing the right person at the right job
(4) Distributing goods '

st (eft) #1 @@ ot = R

(1) @da g A F JE

() fasia g @1 e

(3) @ A F e FE W T

(4) aEgH B AdT

82. | Which of the following is an internal source of recruitment?

(1) Employment agenciés

(3) Campus recruitment

Aot § @ A o @ o @ 8 ?

(2) Promotions
(4) Job portals

(1) R e (2) e
3) Fug o (4) #d I
ode-A

UG-EE-June-2025 (Commerce 4 Ye’;;r) C
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83.

—

Which training method INvolyeg ]Earning while doing the actual work?

(1) Vestibule training
(3) Off'—the-job training
[0 wiwrr fafy AEGE Ff

(2) Internship
(4) On-the-job training

DA T g o B 7

(1) =& ey @) ufgrege
(3) W%EITETWQTET”T (4) mq{gﬁw
A
84. | What is the main objective of directing?
(1) Planningresources
(2) Guiding angd superwsmg employees
(3) Setting rules ang regulationg
(4) Balancing budgets
MRS %1 g Lo
(1) TR o ERIEC)

_-——‘——-_._‘_‘__ & =
85. | Which of the following 18 not a leadership style?

(1) Authoritatjve (2) Democratic

(3) Laissez-faire 4) Bureaucratic

ﬁ?ﬁq‘f@qﬁﬁﬂ?—?ﬁﬁqﬁ%ﬁ%?
(1) miferpfye; (2) ity

/(3) BEEY Ty (4) rerram
UG-EE—June—2025 (Commerce 4_“¥e&;r) Code-A
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’__ st
Qll;.t:mn Questions
% 4__———-__—_——_______._..———-—___
89. | What is the primary objective of financial management?
' costs
(1) Maximizing sales revenue (2) Reducing production €os
(3) Maximizing owner's wealth (4) Minimizing taxX liability
foxiia yaey & i aRea @7 & 7
(1) g o stftrsadrero (2) IAEA @rd gl
3) @ F 4 ST (1) FT i I
90. | Which of the following is considered a financing decision?
(1) Buying new machinery (2) Investingin training programs

(3)  Issuing bonds to raise funds (4) Choosing suppliers
ﬁﬁlﬁﬂﬁaﬁﬁﬁ?-mﬁﬁwfﬁquﬁ?

(1) T 998 gl (2) uferer wEwar # Fag
@ M = S R A i wem ) ufcipatelt 1 =

91. | What does capital structure refer to?

(1) The ratio of current assets to current liabilities

(2) The mix of debt and equity used to finance a company

(3) The scheduling of capital expenditures

(4) The allocation of retained earnings

ol WO § T ard ¥ ?

(1) =g &t & A e & o

(2) R O & R B SgE R a5 e

(3) YOI ot @ STgErB
(4) gfaRa F9% &1 aydes

G-EE-June-2025 (Commerce 4 Year) Code-A
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g2, f What is the ma;
1s the main goal of fina rne:
lancig] planning?

(1) Prcpa!‘ing tax return

?
|
(
!
|
|

|

!

{' 93 What is meant by the term "financial leverage"?

(1) The use of equity to generate profit
(2) The ability.of a firm to increase its tax rate

bes

(3) The use of fixed-cost debt to increase returns

() Tasuing stockita et
“fadrg ST g% 9 #91 andd @ ?
(1) arq FEiT g g & e
(2) Rl w1 o #T o B o
(3) ot F dgr % frd R dra

(4) ST I Y A BT

b
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94. | What is one economic function of a financial market?

SET-X

(1) Reducing shareholder voting rights
(2) Increasing production output

(3) Price discovery

(4) Asset depreciation

() S99, woem s @ @9
(2) TOrq ARG 1 FgHI

3) T g
4) T gemm
i P LS S

95. | Which of the following instruments is part of the money market?
(1) Corporate bonds (2) Treasury bills
(3) Equity shares (4) Preference shares
ﬁ?ﬁf@aﬁaﬁq-mwgﬁlwaﬂm%?
(1) Fmite oz ©2) TN R
(3) THar sy (4) AfEH g

96. | Whatisa function of the

Securities and Exchange Board (SEBI) as per the
financial system?

(1) Increasing money supply

(2) Regulating interest rates

(3) Regulating financia] markets to ensure fair play
(4) Fixing foreign exchange rateg

ﬁ?ﬁum%wuﬁﬁ@wﬁﬁmaﬂé(w)m%mw%?
() o1 oy agry

(2) = =3 71 fafyy

3) %w@rgﬁﬁaam%mmamﬂﬁﬁm
4) fa'a‘sﬂgarﬁﬁquaﬁasrﬁw

une-2025 (Commerce 4 Year) Code-A
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"financial leverage™
(1) The uge of equity t, Benerate profit
The abi]ity_p{ a firm to inepe

(2)

ase its tax rate

(3)

The use of fixed-cost de

bt to increase returns
(1) Issuing stock to the p

ublic

,.hﬁmmﬁ”w%wm%?

(D) Feior 2 wen 1 i

@) W E S W T W
(3) o A Ag F ot v e
(4) ST % W A

!
93. | What IS meant by the term

U Code-A
UG-EE-June-2025 (Commerce 4 \(’:gr)

(%1 CamScanner


https://v3.camscanner.com/user/download

'4'- ymmer pETYTETIEIIOL
EEmasE S = E
7) TR T St = !

1
7‘.&.

@ T WE ® =

'4-mﬁw

5 | Wi o e Seliowimg st 2o o o e T |
|3 Copure ponds 2 Tsmes il
;ﬂ) Zgurx snaves £ Frsiovenss SLATES
ﬁﬁﬁﬁi?ﬁamgwfm%'

o) == @ T P

e i il il

S m-—-
R R M EE R A TR R
(1) Zm agE = 5

z =R w

| ﬁiﬁﬁtﬂﬁﬁum
“ ﬁ"'mﬁi s R



https://v3.camscanner.com/user/download

SET-X
Code-A

__——’—’——"—‘\_
uestion
Q Questions

Which philosophy foey o
0
customer? 0 identifying and satisfying the needs of the

1) Selling Concept
(2) Production Concept

97.

(3) Marketing Concept (4) Product Concept

s
T Fat T 3 TR 4 e % 71 g e T A 2 ¥
CERIE (2) IAEA AN

(3) R Sauren (4) IE FTIR
. .
98. | Which of the following ig not part of the traditional 4Ps of the marketing

mix?

(1) Product @) Price

(3) Promotion (4) People

frrafeiied & & H-81 Ruow Prsr & g 4 & s T8 R 7
(1) SO @ T

(3) W @) @ () ﬁ

Which of the following is a factor that can determine the pricing of a

99.
product?

(1) Availability of packaging
(2) Financial market conditions
(3) Demand and competition

(4) Environmental safety labels

ﬁwﬁﬁaﬁﬂm@w%ﬁrmméwﬂﬁwmm%?
(1) Y@ @ o ©) forfm s aRRafE
(3) w7 e St (4) T ge qed

UG-EE-June-2025 (Commerce 4 X(T?;r) Code-A
3


https://v3.camscanner.com/user/download

SET-X
Code-A

W
No. Questions

100. :
Which element of promotion involves face-to-face interaction with
Prospective buyers?

(1) Sales Promotion (2) Public Relations

(3) Personal Selling (4) Online Marketing
W%ﬁaﬁmﬁﬂm%mﬁ%mmﬁmﬁmmm%?
(1) Ry gada 2) ¥ g9

@) IfFTE Ry @) dAERT Reem
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Question Questions
No.
| 1. | Which of the following is NOT a dimension of the general (contextual)

business environment?
(1) Economic (2) Political

(3) Personal (4) Technological
Wﬁﬁﬁﬁ?—ww(wm)mmmwmwmﬂﬁ%?
(1) onfe (2) oIS -

(3) kT (4) SNt

What does the acronym PESTLE stand for in environmental analysis?
(1) Political, Economic, Social, Technological, Legal, Environmental
(2) Political, Environmental, Structural, Technological, Legal, Ethical
(3) Poliﬁcal, Economic, Social, Technological, Legal, Ethical

(4) Productive, Economic, Strategic, Technological, Legal, Environmental

ety fgaee § oitad! oeg PESTLE @ 1 oned & 7
(1) TomifE, o, amies, de, faftm, e
(2) TS, e, dtEEE, aEe, fafm, i
3) T, s, G, dEdd, i, [

(4) TEE, AE, TOHH, TEE, A, gEEi

3. | How do socio-cultural factors influence business?

(1) They only affect internal company poliy

(2) They influence both demand and supply aspects of the business
(3) They are irrelevant in a market-driven economy
(4) They only apply to non-profit organizations

Zgqrd ) AHI- A E BE ha R Jeied wer § 2
(1) d Faa ofdie ¥ Afd & ged & g

(2) o FIEE & A qAr g AN B g wed @

| (3) 3 oI R arderarar o IvuwfE @

| (4) d Faa e ded §oang e 8

’UG—EE June 2025 (Commerce 4 Year) Code-B
‘ (1)
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Questions

What is one of the key impacts of globalization?
(1) It eliminates all government con trols
(2) It reduces the need for competition

(3) Itincreases the influence of international economic institutions
(4) It guarantees market success for all firms

ST @ 97 Tl § A O P 7

() T& T G FEEE B G FA @

@ TF SRR # EwEEd H FH FE

() T SO ST ST B UTE F g
@ & T T B R SN Sl $ TG & @

Which of the following is not a feature of sound planning?
(1) Goal-oriented (2) Rigid
(3) Flexible (4) Simple

(1) FE-IE (2) TIe
(3) L (4) |

SWOT analysis in planning refers to:

(1) Strategy, Work, Operation, Time

(2) Strengths, Weaknesses, Opportunities, Threats
(3) Systems, Workforce, Options, Targets

(4) Standards, Ways, Objectives, Techniques
P # e [y e F 2

() TFif, FME, ofERE, T

(@) sfFEEl FHEE, FE, Tl

(3) uvTieri, FE-ad, g%, @

) 97, 0%, A, TS

UG-EE—June-2025 (Commerce 4 Year) Code-B

(2)

SET-X
Code-B
Qu;b;:fon Questions 1
7. | What type of plan is used for one-time or non-repetitive activities?

(1)
(3) Single-use plan

Standing p]an (2) Master plan
(4) Contingency plan

0-aT St e el % o P S @ A S S e

(1) *E Ao (2) "= AT
(3) UH SHART Al (4) FAFEEE T

8. | Which of the following is not a characteristic of organising’
(1) Goal-oriented (2) Division of work
(3) Micromanagement (4) Coordination
Rrefafad § @ @99 AEee F1 Gdwar 227
(1) @EE-IHE () Fd F fFFeH
(3) T T 1) T94
9. | Which one of the following is a benefit of formal organisation?

(1) Unofficial rules

Vague authorit;v relationships
Well-defined responsibilities
(4) Casual delegation

Frefefed 3 @ AN OF SOEIRE WA BN E 7
(1) SR

Q) TR AHHR qY

(3) gurewyd R

(4) STHETH A

UG-EE-June-2025 (Commerce 4 Year) Code-B
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Questions

Delegation is best described as:

(1) Assigning responsibility and retaining decision-making
(2) Sharing profits with subordinates

(3) Assigning responsibility and authority to a subordinate

(4) Centralizing control

g FaE ard 8

(1) TR Ao T g T # w9F

@ ST F Ty A P G 3 &9 4

() T FHTE F GG g9 TP GG F w9 d
(@) FEEE # FSET 3 w9 F

11. | A prospectus for share debenture can be issued only by
(1) Public company (2) A Private Company
(3) Both (1) and (2) (4) Neither (1) nor (2)
39 O 3 ford FEETE F ST B A @kl € A
(1) #EEHS FA E (2) T il FE B
@ (17 (@ 3 @ L) TE @
12. | The stage of conceiving an idea and its working-up is called

(1) Prospectuses (2) Promotion

(3) Incorporation (4) Allotment

0% g 1 S 29 991 909 BAraET & 9 # Fed §
(1) gfEETT (2) T
@) frmm (4) aEe

VUGa_EE-'June—2025 (Commerce 4 Year) Code-B
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SET-X
Code-B
Qu;}f';.i'm Questions l
13. | A debenture which does carries any charge on the assets of the company
(1) Naked debenture (2) Mortgage debenture
(3) IExinterest (4) Debenture sinking fund
(1) swfagd FoT= (2) 495 FoTH
(3) 94 A (4) FoE Y [
14. | A price inclusive of the interest for the period for which the seller held the
debenture is called
(1) Ex interest price (2) Cum interest price
(3) Both (1) and (2) (4) Neither (1) nor (2)
B sty & Fe P T FOTE e B o, 9 A S S Hiea 303 B e
(1) 9d &= TH (2) W =@ I3
@) (1) T (2) a9 @ Ta Q) TR
15. | Accounting Standard 16 deals with

(1) * Depreciation of tangible assets
(2) Construction

(3) Borrowing cost
(4) Nonec of the above

g T 16 G ¢
(1) e i & TeRe |
(3) T @FE

@ fmmr |
(4) I ¥ ¥ IR W

UG-EE-June-2025 (Commerce 4 Year) Code-B
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16. | TDS stands for

(1) Tax deducted at sources
(@) Tax deducted at share
(3) Tax pair deducted at sources

4) Allofthe above

Sdieg & oE & ¢
(1) 8 T A B (2) ST T T H Fwl

@) B W THH B (@) TR A

17. | TAN stands for
(1) Tax Collateral account number
(2) Tax Collection account number
(3) Neither (1) nor (2)
(4) Both (1) and (2)
e § 9E © ¢
(1) 3T TS G TE (2) B ETE g §E
@ TAQTE @ @) (1) 71 (@2) 3
18. | What is the main purpose of conducting vertical analysis in financial

statements?
(1) To compare financial data over several periods

(2) To assess changes in market share
(3) To express each item in a financial statement as a percentage of a

base amount :
(4) To reconcile financial statement with tax returns

fri faawei & ety fasaoer 3 &1 5@ A 2 7

() % ot & g siwel 1 g B

(2) aER forErd & oftadd @1 oige B & fod

®) @ﬁmw?{mnﬁﬁaﬂmm@r%qﬁmm%mﬁmm%

a1
Question

No.

e

19.

1)

SET-X
Code-B

Questions

Which of the following is classified as a liquidity ratio?

(1) Operating Ratio (2) Current Ratio
(3). Debt to Equity Ratio (4) Returnon Investment
ﬁq%rﬁaaﬁﬂfﬁwrzm%mﬁmﬁ%mw%?
(2) dF] I

(1) a9 7 oAdE

(1) FEee T
(3) T GH1 STFU

T'he Inventory Turnover Ratio is calculated using:

(1) Net Income/Average Inventory

(2) Cost of Goods Sold/Average Inventory
(3) Total Assets/Inventory

(1) Gross Profit/Average Inventory
sa‘;lam?m@crﬁﬂwrrm’

(1) T o /AEd Zwl

() for &1 T e @ A /e Zgl |
ol qfegfaa /gl 4

(1) T i /aiEa a8

(@) % Fl & R Pl @ am w0 3 R

~ UG-EE-June-2025 (Commerce 4 Year) Code-B

(6)

Donation received for a special purpose will be taken into which account

(1) Income and Expenditure account

(2) Assets side of the Balance sheet

(3) Liabilities side of the Balance sheet

(4) Both assets and liabilities side

Pl fafare w @ RO Wt & @ R @ A R S
(1) @ T 24 gwl

@ FRed & e o

(3) faed & agar 9

(4) ot qur 3 98 &

UG-EE-June-2025 (Commerce 4 Year) Code-B
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22. | Legacies are generally
(1) Capitalized and taken to balance sheet
(2) Treated as Income
(3) Treated as Expenditure
(4 Either (1) or (2)
ReE @ TR W
@) oliga F@ T e F fmn o &
2 @ P w9 F =qgd o @
() =@ P &Y § Faed ol &
@ WA (1) ()
23. | The nature of receipts and payment account is:
(1) Real account (2) Nominal account
(3) Personal account (4) Both (1) and (2)
g T A @ H I 2
(1) IEEE B (2) A gl
(3) AR @ @) )7 @ a
24. | The value of the goodwill in the business will be highest if the majority o

the customers of firm are in nature of:

(1) cats (2) dogs

(3) rats (4) none of above

ZeEE | G/ F 5ed Jeaa 20 Al wH F e @ agaed B oy @ 2
() %A @) =" :
(3) tem (4) TwE # § #° T

SET-X
Code-B
Qulffg_ion Questions
25. | Which one is not the contents of partnership deed?

(1) Name of firm (2) Duration of partnership
(3) Commission, Salary (4) Fluctuating Capital

- FReh v A st T 3

(1) w9 F T (2) dEET F Iy
(3) FHIH, da9 (4) 91 H I-=gH
926. | In the absence of Partnership Deed, partners are not entitled to receive
(1) Commission (2) Interest on Capital
(3) Salaries (4) All of above
AT dow # uRafy ¥, TEE # O A H A T 2
(1) FHH 2) §oif R A
(3) dad (4) ITUF G
27. | When the time of withdrawals are not mentioned, Interest on drawing is
charged
(1) For 6 months (2) For 8 months
(3) For 12 months (4) For 10 months
(1) 6 ¥ & fu 2) 8 7E % forw
(3) 12 WE & g 4) 10 9& & fog
28. | Which one of the adjustment not required at the time of admission of new

partner?
(1) Adjustment of Goodwill
(3) Adjustment of Capital (4) Adjustment of balance sheet

P81 THENH ¢ TEIRE & @9 § 98 AEEE TE 87
(1) wrE & gHEsH (2) AW FEWIEr U qHESH
(3) T & FEEe @) R &1 wEeE

(2) Adjustment of Profit sharing ratio

UG-EE-June-2025 (Commerce 4 Year) Code-B
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29.

Gaining ratio means

(1) Old Ratio — New Ratio 2)
(3) 0ld Ratio— Sacrificing Ratio (4)
T U AR &

New Ratio - Old Ratio

New Ratio —Sacrificing Ratio

(1) GO YU — T U () T I — R ST
(8) G UM — W& I (4) T IR — T AT
30. | Realization Accountis:
(1) Personal A/c (2) Real Alc
(3) Nominal Alc (4) None of above
I @ e
(1) =i =@ (2) ardia® @GRl
(3) FEE Bl (@) I & P Tl
31. | Sales to Ram 336 rupees posted to his account as 363 rupees would affect
(1) Salesaccount (2) Ram'saccount
(3) Cash account (4) Firm ac.ount
74 T 956 % 336 594 F 3HD @ § 363 TYu P WY 1 g fHA1 T A g
FT:
(1) i am (2) T F G
(3) Tz @l () H F @
32. | Goods purchased from A for Rs. 2000 passed through the sales book the

rectification of error will result in

(1) Increase of gross profit  (2) Decrease of gross profit

(3) No effect on gross profit (4) Increasein firm valuation

2000 5. & A @ BlE T AW A gEw ¥ dER um & gf gan @
o E-

() #FA @9 # gz e (2) W @M A FH 2

(3) @%@ @MW W FE 99E T (1) FH F g § gfn A

UG-EE-June-2025 (Commerce 4 Year) Code-B

(10)

of data representation?

(1) Data (2) Schema
(3)
-1 et FoeRe 3 Wfs Yo F AFS G B qleE e § FF
P ©

(1) oT®s

(3) e

Constraints (4) Relationship

(2) @l
(d) F=9

UG-EE-June-2025 (Commerce 4 Year) Code-B
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SET-X
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33. | A sale of rupees 100 to A recorded in the purchase book would affect
(1) P'saccount (2) Purchase return account
(3) Sales account (4) Both (2) and (3)
I JEE H T AF 100 B4 F faw & geiEgd e
(1) P & @ (2) #4 99E =
(3) far @ (4) (27 (3)
34. | Which of the following is element of the data base
(1) Data (2) Constraint and Schema '
(3) Relationship (4) All of above \i
et & f-a1 SrerE B o e |
(1) ofiFer (2) T FET A ;
@) = (4) STUF
F
35. | Which separate the physical aspect of data storage from the logical aspects|
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another company in a forej,

36. | In which entry mode does a company allow :
country to use its intellectual property for 5 fee!
(1) Joint Venture (2) Exporting .
(3) Licensing (4) Contract Manufacturing
ﬁmmﬁaﬁwmmmﬁhﬁmﬁmaﬁﬁw%mm
e T ST F A orER A
(1) HgF IBRH ) GRIG]
(3) TRERT (4) IgEd fafemfoT :
T
37. | In which type of countertrade does the seller agree to accept goods or serviceg
as partial or full payment after supplying technology or capital goods?
(1) Offset (2) Barter
(3) Buyback (4) Switch trading
B S 3 S 3 e GARE A foi aegell @ o & o i
m'gﬂiw%wﬁa@aﬁmWﬁaﬁWaﬂﬁ%Tmea
(1) e () g faf
(3) d9\H tCElES (4) fg @
38.

What is the primary objective for a Multinational Corporation (MNC) to
engage in FDI? .

(1) To avoid currency exchange

(2) To invest in domestic stock markets

(3) To gain control over foreign production and access new markets
(4) To only generate interest income abroad ‘

magrr@uﬁvm(@@@)%mwéan%aﬁmwma@mw%?
(1) 7 B § 999 & -4
2 ais;&s’awﬁﬁ%m%ﬁﬁ ‘
(3) e R qgr AU o 9% T59 9 FEE o A &

(4) am a2 ¥ @ aF T B &

UG-EE-June-2025 (Commerce 4 Year) Code-B
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39, | Which document defines the objectives and scope of activities of a company?
(1) Articles of Association (2) Certificate of Incorporation
(3) Prospectus (4) Memorandum of Association
(1) uMg % Jara (2) T gEeT-oE
(3) wfEET (4) Tz HEFEE
40. | In an LLP, the liability of partners is limited to:
(1) The entire debt of the firm
(2) Their personal property
(3) Their capital contribution to the LLP
(4) A fixed amount set by the government
1), w & T FT TE
(2) T FRl e T
() TR g freiia & e LUEIEGES
41. | What does capital structure refer to?
(1) The ratio of current assets to current liabilities
(2) The mix of debt and equity used to finance a company
(3) The scheduling of capital expenditures
(4) The allocation of retained earnings
oS e @ A § 7
(1) o AR & ww SR S
2) Bl el B RO B M F q R R
@) el @ # ST
(@) sl R F AT

UG-EE-June-2025 (Commerce 4 Year) Code-B
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3 i i loffi 1 ing? 5
- Whatis the maln‘goa of financial planning 44. | What is one economic function of a financial market?
(1) Increasing liabilities (1) Reducing shareholder voting rights
(2) Managing HR policies (2) Increasing production output
Qs 4 e : - (3)  Price discovery
(38) Aligning financial decisions with business goals (4) Asset dopreciation
(4) Preparing tax return fpr .o am #1 us onids w7
WWWWWW%? LS =l -/Wm’sjvmﬂ?ﬂ}?qm
(2) 3dEA 3 JEVZF"_ EARCEHEL
W (3) g 9=
(20 HR gl # 99499 (1) TR geEed
@) AL H 45, | Which of the following instruments 1s part of the money market?
(4) T REreh F1 fm (1) Corporate bonds (2) Treasury bills l
(3) LKquity shares (4) Preference shares |
43. | What is meant by the term "financial leverage"? Frtilea o @ &E-ar @meE Tl 9T R/ 9 g7
(1) The use of equity to generate profit (1) HERE 9 (2) X i*'q'* V‘C“‘*:'j-
(3) HHAT 3390 (4) SgHE A9
(2) The ability of a firm to increase its tax rate
46. | What is a function of the Securities and Exchange Board (SEBI) as per the
(3) The use of fixed-cost debt to increase returns {inancial system?
(4) Issuing stock to the public (1) Incrcasing money supply
B I8 o= & 77 ad 37 (£2) Regulating interest rates
: - (3) Regulating financial markets to ensure fair play
(1) @rg fapr %'gl GHal F IET (1) I'ixing loreign exchange rates
5 foxir womell & orgER wiesfa dun i 9 (&) @1 o 5 o g ?
() B %5 F AT BT W TeH F oA : : . \
(1) g1 YT T
(3) 997 # 9e % o Fifvga ara w=o (2) @ T & R
4) T 3 =y A EE (3) HA < gRET R & fR e SeR @ R
' (1) foelt wer R & @ AR

UG-EE-June-2025 (Commerce 4 Year) Code-B
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50. | Which element of promotion involves face-to-face interaction with

prospective buyers?
(1) Sales Promotion (2) Public Relations
(4) Online Marketing

G99 3 BE Y a9 F N el # A AmAaey S afs &7

(3) Personal Selling

Code-B
Q“ﬁffm Questions
47. | Which philosophy focuses on identifying and satisfying the needs of the
customer?
(1) Selling Concept (2) Production Concept
(3) Marketing Concept (4) Product Concept
F-H1 SF TeH H AGEFAN B T F T TG B T A Il &Y
(1) fepl Sr@Erom (2) IR IR
®3) RIS Sraere (4) IR UM
48. | Which of the following is not part of the traditional 4Ps of the marketing
mix?
(1) Product (2) Price
(3) Promotion (4) - People
Frfated § 8 M-8 QU fee & e 49 & o @R 7
(1) JdA= @) T
(3) Hadw (4) T ()
49. | Which of the following is a factor that can determine the pricing of a

product?

(1) Availability of packaging

(2) Financial market conditions

(3) Demand and competition

(4) Environmental safety labels
ﬁqﬁ%ﬂqum%vﬁﬁﬂﬁw%gmmﬁwmm%?
(1) TR 1 Suder 2) frm aer ot

(@) i e (4) TEThT gor dew

(1) frg dadw (2) 9 7%
(3) AR e (4) e e
51. | Which one of the following is not considered a solvency ratio?
(1) Debt to Equity Ratio (2) Proprietary Ratio
(3) Interest Coverage Ratio (4) Trade Receivables Turnover Ratio
Freifiiee & @ fFR olamema SeE T8 9 S 2
(1) FO1 G5 ST (2) @itE HJIE
(3) AN HEBEA I (4) &N 99 FEG T
52. | What is the primary objective of financial statement analysis?

UG-EE-June-2025 (Commerce 4 Year) Code-B

- (16)

(1) To reduce taxes
(2)
(3) To provide stakeholders with relevant data for decision-making
(4) To calculate depreciation

fosir fgaeT fagawer @ gt 92w @ 8 2

(1) T H & HA

(2) uftemfy omEd @ ggmr

(3) folg & ford Raarel @ uEie e Iga=y SO
TR Pl O HET

To 1ncrease asset turnover

UG-EE-June-2025 (Commerce 4 Year) Code-B
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53. | Under the indirect method, which of the following is added back to net

income to determine cash from operating activities?
(1) Increase in prepaid expenses

(2) Depreciation expense

(3) Decrease in accounts payable

(4) Gain on sale of land
Y B 3 S SEe TaaNg 9 Uee MuiRg & & v ke §
| B g= 9™ ¥ S o @ ?

55.

(1) &9 =4 ¥ g (2) oFE™ =
(3) 9 =@ (@) 9 = fEr 9 A
54. | According to AS 3, how is dividend paid treated in the cash flow statement?
(1) Operating activity (2) Investing activity
(3) Financing activity (4) Not shown at all
AS 3 & IER s JAE Gaeer ¥ aaie TM & 44 Zaed A S e 7
(1) TEEH e (2) e iy
(3) famamer Afafaiy (4) faaga & b s @
Which one of the following adjustments is subtracted from net income in

the indirect method?

(1) Depreciation (2) Loss on sale of asset

(3) Decrease in inventory (4) Gain on sale of asset

amiE B & e o@ @ Freie d 3 B qEEee # geE S g
(1) FeeE (2) "R # fee o E

(3) Fa91 4 F0 (4) dftamf @ fee 9 @

~ UG-EE-June-2025 (Commerce 4 Year) Code-B
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SET-X
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56. | Who said, "Management is the art of getting things done through people"?
(1) Peter Drucker (2) Mary Parker Follet
(3) Henri Fayol (4) Koontz and O'Donnell
e @, “wEe A S mem & wm A w2 7
(1) 9T g 2) 0 TET g
(3) B BA 4) F=1 T4 A=A
57. | Which of these is NOT a feature of management listed in the book?
(1) Management is only a science
(2) Management is used everywhere
(3) Management is continuous process
(4) Management cannot be touched but is felt
T G H-H R gEed ged @ el T8 7
(1) 9se &ad 0F G5 &
(2) UeHT F BT STIE I9GN AT ST &
(3) U UF HAd AT
(4) "I F Wyl T W Tegd [ A e @
58. | Which principle says that an employee should get orders from only one
boss?
(1) Unity of Direction (2) Equity
(3) Unity of Command (4) Order
A et 7 % @ B O 0 B 390 T 416 @ SRw a9 AR ?
(1) Ry & & (2) g5
@) FEy & e (4) RY

UG-EE-June-2025 (Commerce 4 Year) Code-B
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59. | Which of these is a principle of Taylor's Scientific Management?

(1) Centralisation
(2) Scalar Chain
(3) Science, not rule of thumb
(4) Initiative
ﬁﬁﬁﬁ?-ﬂéﬂ?%aﬁrﬁaswmwm@m%?
(1) FHET
@) T =T
@) FE R @ FEm T E
(4) Ued
60. | Who makes the mission statement and goals in an organization?
(1) Top level management (2) Middle level management
(3) Lower level management (4) Workers
og Fe § MeE e ga1 @ B e g
(1) 9 @ 5§ (2) WeF w99
(3) f/= @t ygaa (4) =i
61. | What is the correct definition of staffing?
(1) Managing only unskilled workers
(2) Controlling financial resources
(3) Placing the right person at the right job
(4) Distributing goods
s (i) #1 @é ofa A E
(1) FAq Sgam A F g (2) fad g @ e
: @) T A @ EE Fd W e (4)  aegEl & e
: e

UG-EE-June-2025 (Commerce 4 Year) Code-B
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62. | Which of the following is an internal source of recruitment?
(1) Employment agencies (2) Promotions
(3) Campus recruitment (4) Job portals
frfafad & & #F-m 99 1 sEtvE g 2 7
(1) TSI wsife (2) T
(3) FmE ol (4) F4 o

63. | Which training method involves learning while doing the actual work?
(1) Vestibule training (2) Internship
(3) Off-the-job training (4) On-the-job training
g ufaerer ffy § awdfas &9 #00 @9 drE amEE E 7
(1) esale gfee (2) wigrEga
(3) FM & aATET AT (4) FA 9T HEET

64. | What is the main objective of directing?

(1) Planning resources
(2) Guiding and supervising employees

(3) Setting rules and regulations
(4) Balancing budgets

FReM @ T 29 1 E 7

(1) FareEt F e

(2) Al @ AriEes a qEaE
3) Fred qur R & el
(d) T FgI

UG-EE-June-2025 (Commerce 4 Year) Code-B
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65. | Which of the following is not a leadership style?

(2) Democratic

(1) Authoritative
(3) Laissez-faire (4) Bureaucratic
Frfefe & & #9-d@ Jge e a4 2 7

V) RS @) Tt

(3) &wHY e (4) FrHTImEr

66. | Which of these is a non-financial incentive?
(1) Bonus (2) Profit-sharing

(3) Job security (4) Commission

9 9 FH-a1 - e &7
(1) FF=4
(3) FE-gTE

(2) @ATq-HEHIar

(4)  FHIIH

Questions

What is the first step in the process of controlling?
(1) Comparing actual performance (2) Taking corrective action

() Measuring performance
=TT 1 afbar % e emor g @ 2
(1) AreHas FoesT # gem

(3) FoaRs A

(4) Setting performance standards

(2) QIRTHF FHEGR
(4) FoIEs 59 Mgt

67. | Which of the following is a barrier to effective communication?
(1) Clarity (2) Poor listening

(3) Feedback (4) Open culture

F=ifiga & @ FM-a1 9961 59 5 oy § 7
(1) Tear (2) GF 49

(3) Hfgfe (4) Fal qeph

UG-EE-June-2025 (Commerce 4 Year) Code-B
(22)

69. | What is the primary objective of financial management?
(1) Maximizing sales revenue (2) Reducing production costs
(3)  Maximizing owner's wealth (4) Minimizing tax liability
el gae a7 o 92w a2
(1) T T sifimasigr (2) IURA aFF g
(3) @ & e S (4) & AEF TAaHETT

70. | Which of the following is considered a financing decision?

(1) Buying new machinery (2) Investingin training programs

(3) Issuing bonds to raise funds (4)  Choosing suppliers
FrferiEd & 4 #F-a1 frdie fofg e o 3 2
iSOl FEEE § FRE

qidsatet & T

(1) =41 998 1 =lg 2)
() M =T % [ d9ve 9 s (4)

UG-EE-June-2025 (Commerce 4 Year) Code-B
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71. | Partner's current account are transferred into

(1) Partner's loan account (2) Partner's Capital account

(3) Both (1) and (2)
H@m%a@@ﬁﬁmmmé:

(1) TERR 3 FT @A q (@) wEER $ 3ot @ |
@ ()T @ A (4) 37T ® & 3 T

(4) None of above

All books of accounts is closed, when

2.
(1) Dissolution of Firm (2) Dissolution of Partnership
(3) Both (1) and (2) (4) None of above
() & = fged @ R (2) HEET @1 e g R
(3) () T (2) (4) ST & @ = T

73. | Abanking partnership firm can have

(1) Not more than 50 partners
(2) Not more than 10 partners

(3) Not more than 5 partners
(4) Not more than 20 partners

ug e gEETd wE § O wEa &
(1) & 50 \EET
(2) @fEEE 10 |FET
(3) FfEEaA 5 AEET

(4) FAaEAT 20 AEET

UG-EE-June—2025 (Commerce 4

Year) Code-B
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74. De_preciation fund at the time of admission of new partners are transferred
to
(1) Resolution A/c (2) Partner's Capital Account
(3) Both (1) and (2) (4) Neither (1) nor (2)
7Y WERR & Y9 3 999 gederd M @ i A A 2
(1) @HgE @ | (2) 9EER 3 9 @d 8
(3) (1) d (2) &t (4) T (1) E (2)
75. | A, B and C are partners in a firm. If D is admitted as new partner
(1) Old firm is dissolved
(2) Old partnership is dissolved
(3) Old partnership is reconstituted
(4) None of above
A BTy C s %d ¥ gEeR ¥ 1 Y 9FER # §9 4 3 D & 59 A 9w
1) e w @ e dm (2 QR SEE FOEeT &
(3) WEE F gFEA & (4) IR F FE T
76. | Debentures issued as collateral security for rupees 10,000 will be debited

to
(1) Debenture suspense account
(2) Bank account

(3) Debenture account

(4) None of above

wiedes s @ &9 7 Frid s & e 10,000 593 3RE B R
(1) Fo9H Jar @ J @ % @m ¥

(3) FOH @R H (@ I ¥ | 5 A6

UG-EE-June-2025 (Commerce 4

Year) Code-B
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[ESOP stand for
(1) Employee Stock Option Plan

(2) Employee Stock Option Premium
(3) Employee Share Option Plan

(4) None of the above
ESOP @1 379 # -

| () #var wa fAwer e
(3) FHEM 319 fasmeq A

80.

(4) 3T § 8 F:E T2

Which of the following is not a feature of private company?
(1). Restriction on transfer of shares

(2) Can invite the public to subscribe to shares

(3) Minimum 2 and maximum 200 members

(4) Must use "Private Limited" in its name

frifefed ® @ @F- oE ol @ 1 Aagar 59 2

(1) 39 $ ofdver 9¥ ufqgy

(2) ST F Sigl BY SivEM B A omHREAT F FwaT @

(3) GAM 2 qAT AfHAT 200 T

(4) S99 A ¥ ugde WS’ # I9FnT HEAT =T

81.

N:: . Questions
=7 | The balance of sinking fund investment account after the realization of
investment is transferred to
(1) Profit and loss account  (2) Profit and loss appropriation account
(3) Debenture account (4) Sinking account
Ry # ot 3 % FRg Ry R @R #d wEia fE s e
() =W T e wn W (2) @™ qan @ A =@ @)
(3) FoIA @A H () T am &
78. | Share premium money can be used for
(1) Payment of dividends
(2) Writing off goodwill
(3) Issue of fully paid bonus shares
(4) All of above
997 dFE 99 F ITE B S O ©
(1) et % gEE $ fag
2) ¥E F A%Ed $ ol
(3) oo 7 9WF sish F FriE & R
() T
79. | Shares which are not preference shares are called
(1) Equity share (2) Surrender of share
(3) Under subscription (4) Reserved and surplus
g A afga sier 7 ¥ ) FEan © .
(1) w4 @) a0 &1 Fdr
| @) " i (4) T qar i E

82,
(1) Indian Partnership Act, 1932

(2) Companies Act, 2013

(3) Industrial Policy Act, 1956

(4) Government Enterprises Act, 2005

fea arfafen & ofdfa wRa & gward Fwfwr Fafag 3 od 82
(1) g aEEr sifEfEE, 1932

(2) Fwt sfgfEE, 2013

(3) afenfe sifg sfafee, 1956

(4) A 3w sAEfEE, 2005

Year) Code-B

UGmEfEduhe-'2025 (Commerce 4
Vinar il ST (26)

Under which Act are Government Companies registered in India?

UG-EE-June-2025 (Commerce 4 Year) Code-B
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* 85. | Which of the following is not a characteristic of preference shares as a

83. | Which type of account is generally opened by businesses that require

] sour “finance?
frequent and large transactions? source of finance?

(1) Savings Account (1) Fixed rate of dividend
(2) Fixed Deposit Account (2) Voting rights in all decisions
(3) Current Account (3) Priority over equity shareholders in dividend payments

(4) Recurring Deposit Account (4) Less risk compared to equity shares
quwaﬂﬁtwwm@m@ww%ﬁéwam@ Sreffiag 3 @ AM- B % O & B0 8 S dt 1 Eaed @ e
3 # ST el 87 ‘ (1) araier F fAfE &

Q) = @ | 2) wh Fofd § waEe @1 st
(2) AR S G : (3) e PN § G SAE # ge J e
: [ L0 ~ ~
| (4) AT g # gan H & S
(3) =g @ |
|

(4) a1 Gre 86. | What is the main advantage for a foreign company to issue ADRs?

84. | What does UPI stand for in digital payments? (1) It allows them to raise capital in their domestic currency
(2) It exempts them from U.S. securities regulations
i

(1) Unified Personal Identification
(3) It provides access to the large pool of U.S. investors and increases |

(2) United Payment Integration : S

L i Thayeitsexchissga sata fludhustions

oo sl % ot & A ¥ et & Fof ¥ B s 7 & 3 v 1

8) W‘Wéﬂzﬁf@ﬁm | . (1)@aﬁwﬁq@q@wm@mg

(2) FEEE AT §EHT (2)%@3@%@%%@@@*@3 _\ Q
- ; (3) ¢ SRR PR & 9% W T% TEd WA B & I G L €

g (4>%ﬁﬁwﬂ%m-mam%

(4) FEEa W< Fzefed
UG-EL-June-2025 (Commerce 4 Year) Code-B
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87. |A patent‘: is. granted for an: = . ” 91. | Which of the following is not considered a part of ledger?
@ Artlstl'c work (;2) grlgmal musical composition (1) General: ledger @ TFirm
(3) Invention (4) Business name (3) Debtors (4) Creditors
= R 96T 8 W Frifaferd & @ @=-ar @a-221 &1 a9 FE 9 o 27
1) FaeE P P R @ dfes Giiifas o & ol (1) @M= Am-ag @) w4
(4) ZEEE B 99 B R (3) IR (4) T

Which of the following statement is not correct?

(3) oR=R 3 il

Which of the following is NOT a stage in the entrepreneurship development
Receipts and payment is a real account

(1)
(2) Income and expenditure 1s a nominal account
Income and expenditure account relate to previous, current or following

88.
process?
(1) Project implementation (2) Idea generation
(3) Retirement planning (4) Business plan development (3)
Sy § @S- SerfeT R g 0% e T B accounting period
s (4) Non-cash items are not shown in receipts and payment account
[ ) P TR e # @ F-a e T A
: (3) Sagha A (4) =EEE del EEE (1) i o T o A am g
89. | WTO replaced which earlier organization? (2) o qA T O AT M E L o e s o ‘
(1) IMF 2 GATT (3) S Tl T e, g, e ST e S & Sei E @ F
(3) UNCTAD (4) NAFTA (1) TR-{g wal 1 O q9r P @ q Tl e S e '
i 3‘@3{&?{ =67 'ié R - i Which of the following is an accounting convention?
[0 Sl e @ T (1) Convention of separate and entity
(3) e (4) AT (2) Convention of conservatism
(3) Convention of cost concept
90. | Who issues a Letter of Credit? (4) Convention of money measurement
(1) Exporter (2) Importer Fr=ifeifiad & #9-d1 & d@ET a8
(3) Bank on behalf of the importer (4) Customs authority (1) g TP 1 areare
(2) drErER # 9
(3) T wEEd & IR

AE-T= P A FAT &7 7
() fafas (2) SaaE
(3) FAEE # AT 95 (4) dH-geh HiEeEr

UG-EE-June-2025 (Commerce 4 Year) Code-B
(30)

(4) o "9 F OIRAE

UG-EE-June-2025 (Commerce 4 Year) Code-B
(31)




SET-X

Code-B
SET-X
“§Sﬁ0ﬂ Questions Code-B
o Question Questi
ue :
94. | Match the following: g St \
A Conse.rvatism (1) Full and clear Infor:_“atm; P 97. | Identify which of the following statement is false
B. Full disclosure ) DA (1) The posting is done in the Journal
C. Consistency (iii) Relevant details .
D. . Materiality (iv) Anticipate no profit but provide for all (2) Ledger is a set of accounts
possible losses (3) Journal records transactions and chronological order
(1) A-iv, B-1, C-ii, D-i11 (2) A-, B-i, C-1, D-iii A Le p L :
d
(3) A-ii, B-iii, C-iv, D-1 (4) A-iii, B-iv, C-i1i, D-1 4) ger records transactions in hand analytical order
A TEAN FT PA-A1 FI FEA 27
g F >
@ T 5FA (i) SmaRafid d@iET Fam (2) TA-EE @E # e 2
@M e (ii1) rEfE faaTer (3) T A3 1 FEEE BA 3 B FAT 2
() i (iv) Frfl T 1 T4 T HT TCG AL @) - I 20T AR w6 § a9-a @ B ¢
FE & R1d qEae &
(1) F-iv, G-, T-ii, F-1i @) #F-i, @-i, T, g-iil 98. | Profit and loss on depreciation fund investment is transferred to
(3) F-ii, T-iil, Tiv, 711 (4) F-iil, G-iv, T, 5 (1) Profit and loss account ~ (2) Assets account
95. | The amount brought in by the proprietor in the business should be credited to (3) Depreciation fund account (4). Reserve account
(1) Cash account (2) Drawing account e .
(3) Capital account (4) Proprietor account d Foft e ¢ T e i P e &:
ZEEE & @l 2 A T R i RRe R S e (1) ar e a e | (2 e @ &
a) e T F (2) T @ (3) ToEE Y ad | (4) =9 @@ A
@) T & d (4) @ % @d |
99. | The interest lost on acquisition of an asset is taken into account in calculating|
96. | The rent paid to landlord be credited to depreciation
(1) Landlord account (2) Rent account , . :
(3) Cashaccount (4) Drawing account (1) Depletion method (2) Annuity method
WT‘?I Z RG] faar T U Fee @ aEm: (3) Diminishing balance method (4) Straight line method
(1) 9@H @i F 2) @ g & @Wﬁ%mwmﬁaﬁﬂw#mﬂm#wm%
@) Tz (4) AT ER A (1) Feiider R () TR AR
UG-EE-June-2025 (Commerce 4 Year) Code-B (3) =t A fafy @) W R

(32)
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100. | Which of the following is a clerical error? ‘
(1) Type A error (2) Type B error
(3) First class error (4) Compensating error
Pt & @ -8 o5 RT3 b
(1) TR AFfe (2) ¥R Bfe
@) s I e (4) shgf e

UG-EE-June-2025 (Commerce 4 Year) Code-B
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% Partner's current account are transferred into

(1) Partner's loan account (2) Partner's Capital account

(3) Both (1) and (2) (4) None of above
AERR @ 9 @1 B WEART B S 2
(1) @R & ®=9 g« J (2) ERR & S @ A
@) (1) 3@ A (4) ITF F A FE TEH
9. | All books of accounts is closed, when
(1) Dissolution of Firm (2) Dissolution of Partnership
(3) Both (1) and (2) (4) None of above
T ad A @ e R 3,
(1) w1 faged & 2 (2) wEER & faues 8 2
3) (1) @ (2) &t (4) I ¥ @ FE T

3. | Abanking partnership firm can have
(1) Not more than 50 partners
(2) Not more than 10 partners

(3) Not more than 5 partners
(4) Not more than 20 partners

e (R g | CCA e e S B oo -
(1) tfawad 50 aEER
(2) fEdT 10 9ERER
(3) fiEam 5 GERR
(4) @fgEam 20 ERR

UG-EE-June-2025 (Commerce 4 Year) Code-C
(1)



T :
el g SET-X

: Code-C | Code—C
st Questions Q“ﬁf‘;fm‘ Questions ‘
4. | Depreciation fund at the time of admission of new partners are transferred 7. - | The balance of sinking fund investment account sfter the realis o o
o investment is transferred to
(1) Resolution A/c (2) Partner's Capital Account (1) Profit and loss account  (2) Profit and loss appropriation account
(3) Both (1) and (2) (4) Neither (1) nor (2) (3) Debenture account (4) Sinking account
T SRR S 939 3 T I A A SR B 2 P 4 W & @ i B PR wR @ G e e e R
) A ER J (2) W F GOl W A (1) @ Ef an A @) @ T B ARdeE @R @
@ W3 @ T W)W @) ¥ FTE AR A (4) P @@ A
5. | A BandC are partners in a firm. If D is admitted as new partner 8. | Share premium money can be used for
(1) Old firm is dissolved (1) Payment of dividends
(2) Old partnership is dissolved (2) Writing off goodwill
(3) Old partnership is reconstituted (3) Issue of fully paid bonus shares
(4) None of above @) All of above
A B CT %4 3 995K £1 7¢ 99eR & &9 7 3R D & 13y Ry o S e & @7 ggdtT R o we R
(1) g B faEe g (2) YT HERN # faged @ (1) @it # g 3 A
(3) WEEH # [Fied &M (4) I | #E T @) T3 svEEd & f
6. | Debentures issued as collateral security for rupees 10,000 will be debited (3) i &9 a9 St & o 3 fm
to (4) IWE T
(1) Debenture suspense account
B8 ik aceonnt 9. Shares which are not preference shares are called
(3) Debenture account (1) Equity share (2) Surrender of share
(4) None of above (3) Under subscription (4) Reserved and surplus
qNiES gfrefa # &9 & frfd #0192 R 10,000 s9 2 B s e o A Sy T Y| g B
(1) #9= It g § (2) 9% @ # (1) a9 s (2) e P gy
(3) #1F @\ F (4) T F 4 F2 TE (3) F afEF (4) T T e
- UG-EE-June-2025 (Commerce 4 l:g)ar) Code-C UG-EE-June-2025 (Commerce 4 Year) Code-C
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10.

ESOP stand for
(1) Emplovee Stock Option Plan
(2) Employee Stock Option Premium

(3) Employee Share Option Plan
(4) None of the above

ESOP #1 3@ 2 :

(1) FHE @Y faFe g
(2) FHAM @Y % g
@) FHEM S faww de
(@) =T ¥ & P T

&t B

Which of the following is not a feature of private company?
(1) Restriction on transfer of shares

(2) Can invite the public to subscribe to shares

(3) Minimum 2 and maximum 200 members

(4) Must use "Private Limited" in its name

Pt 4 8@ FA-91 0% Fe FE @ fadua @ e

(1) S F ofare o A

2) maﬁ*mﬁ%@amﬁmmmﬂm%

(3) oW 2 a9 SfgFdH 200 7EH

(@) @m W F ‘ade fafiee &1 IuEr #TT A

okl UG-EE—June—ZO% (Commerce 4 Year) Code-C
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12. [ Under which Act are Government Companies registered in India?
(1) Indian Partnership Act, 1932
(2) Companies Act, 2013
(3) Industrial Policy Act, 1956
(4) Government Enterprises Act, 2005
fpa arfafram & sidia A o aewrdl sofat fafea £ e 27
(1) wredig @ afafiam, 1932
(2) F aAfafran, 2013
(3) alrenfi ifq effafras, 1956
(4) ATl IuEA @fEtaE, 2005
13. | Which type of account is generally opened by businesses that require
frequent and large transactions?
(1) Savings Account (2) Fixed Deposit Account
(3) Current Account (4) Recurring Deposit Account
R Wb 1 @Al AR 9F 39 9aEl 21 @il A6 & AR SR a9 98 a3
FI gl el 27
(1) T=a @ (2) H&E @
(3) @ @l (4) Edt T @
14. | What does UPI stand for in digital payments?

(1) Unified Personal Identification
(2) United Payment Integration

(3) Unified Payments Interface
(4) Universal Payment Identity

feforea st # giiend & Far amerg 27
(1) FheEe g smeedfrde

2 TeRE W 3w

3) giwEs ded devdy

(4) gFaEa W angRfed

UG-EE-June-2025 (Commerce 4 Year) Code-C
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15. | Which of the following is not a characteristic of preference shares as a

source of finance?

(1) Fixed rate of dividend

(2) Voting rights in all decisions

(3) Priority over equity shareholders in dividend payments

(4) Less risk compared to equity shares

P § & d9-91 B9 @ 99 @ &9 § fuwe ofe 1 fastear 76 &
(1) e @ FigE R

(2) & PR F Ao & e

(3) TS TN § TAA ATUNH F A A DA

(4) T Ssl # QoW A A A

16.

What is the main advantage for a foreign company to issue ADRs?
(1)
@
(3

It allows them to raise capital in their domestic currency

It exempts them from U.S. securities regulations

It provides access to the large pool of U.S. investors and increases
visibility

(4) It avoids exchange rate fluctuations

e & frim 2 fFE fRdl a7 3 Rl ge e w87

(1) 3@ 32 A0 90 o1 § G qem # gl e 2

@) 7 3% R S R & gz a3

(3) T FAF fE9E 3 92 9 0% T5d WO FA1 ¢ ad g qgr &

(4) 7z fafwg 27 & ga-ge@ @ 49 &

UG-EE-June-2025 (Commerce 4 Year) Code-C

(6)

Qu;‘f(:lio“ Questions

17. | A patent is granted for an:
(1) Artistic work (2) Original musical composition
(3) Invention (4) Business name
R fgr A @
(1) s Fa & [ (2) dfE s = %
(3) enfaset & ford (4) ZEad % 99 % 9

18. | Which of the following is NOT a stage in the entrepreneurship development
process?
(1) Project implementation (2) Idea generation
(3) Retirement planning (4) Business plan development
Frfatem & @S-G I [ g 3 0% FEE W e
(1) e R (2) frEm FE
(3) Qafgh FEE (4) FF9E FoA GFE

19. | WTO replaced which earlier organization?
(1) IMF (2) GATT
(3) UNCTAD (4) NAFTA
Ty Al 7 R g @ F ahoeG
(1) 9T T T @ ¥
(3) HFE (4) T

20. | Who issues a Letter of Credit?
(1) Exporter (2) Importer
(3) Bank on behalf of the importer (49) Customs authority
ArE-9H A A S 87
(1) Frofas 2) A
(3) EIE # AT A I @) G-I aRER

UG-EE-June-2025 (Commerce 4 Year) Code-C
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21.

Which of the following is not considered a part of ledger?
(1) General; l.edger (2) Firm

(3) Debtors (4) Creditors

frafafgd & @ 9-a1 GE-T8 G TE A A 87

(1) 99 -l (2 oA

(3) ITR (4) aAFER

22.

Which of the following statement is not correct?
(1) Receipts and payment is a real account

(2) Income and expenditure is a nominal account
(3) Income and expenditure account relate to previous, current or following

accounting period
(4) Non-cash items are not shown in receipts and payment account

frfofas § § -9 397 a6l T8l o

(1) 9T & e & dwdds @ g

(2) FG T FY F THE G e

(3) ¥ T =@ @ [UBd, AR YA ST e srafy @ wafia g ¢

() U=z 7E # oG q9 e an § T et a2

SET-X

23.

Which of the following is an accounting convention?
(1) Convention of separate and entity

(2) Convention of conservatism

(3) Convention of cost concept

(4) Convention of money measurement

Frfafaa 3 #M-91 0F @ e 8-

(1) 9o%F ag1 %6 I 9Reel

(2) HEvER % 9

(3) @@ guEd %l g

(4) €9 A9 F 9RAET

UG-EE-June-2025 (Commerce 4 Year) Code-C
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Code-C
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24. | Match the following:
A. Conservatism (1) Full and clear Information
B. Full disclosure (ii) Unchanged accounting practices
C. Consistency (iii) Relevant details
D. Materiality (iv) Anticipate no profit but provide for all
possible losses
(1) A-iv, B-i, C-11, D-11 (2) A-1, B-i, C-i, D-iii !
(3) A-ii, B-iii, C-iv, D-i (4) A-iii, B-iv, C-iii, D-i }
Frefafas &1 gam A ‘:
() G (i) goF g T AEEE
@ o e (i) ORERE T=E FEm
(M e (iii) TP fEETeT
() Ao (iv) Fodl @ @1 e 9 F< 9y I gEEd |
gedl & g 9EaE F1 ;
(1) F-iv, @i, T-ii, 9-iii (2) %, -, T, F-iii 5
(3) F-ii, @-iii, T-iv, ¥-1 (4) F-iii, E-iv, T-iii, 9+ l
25. | The amount brought in by the proprietor in the business should be credited tol
(1) Cash account (2) Drawing account
(3) Capital account (4) Proprietor account
g § wWrlt g add T i B/ #fee s =g
(1) g @ A (2) o @n 3
(3) ot @t F (4) @t 3 @a d
26. | The rent paid to landlord be credited to 3

(1) Landlord account (2) Rent account
(3) Cash account (4) Drawing account

q@rft B g B T R B S
(1) sard @i A (2 Rd ar F

(3) V% @i | (4) JET @

UG-EE-June-2025 (Commerce 4 Year) Code-C
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27.

Identify which of the following statement is false

(1) The posting is done in the Journal

(2) Ledger is a set of accounts

(3) Journal records transactions and chronological order
(4) Ledger records transactions in hand analytical order
Gear BT - T S B

(1) sHa ¥ 9feT i A &

(2) @a-g a1 ageEd §

(3) W -2 T FAHEEE F H G T &

(4) TE-EE & 2 ARTTES A A2 @ B E

SET-X
Code-C
Quﬁf_ion Questions
30. | Which of the following is a clerical error?

(1) Type A error (2) Type B error

(3) First class error (4) Compensating error
Frefataa & & #m-41 o fafgm g7 2
(1) e AR (2) 77 B2

(3) o™ A7 e (4) =g 7

28.

Profit and loss on depreciation fund investment is transferred to
(1) Profit and loss account  (2) Assets account
(3) Depreciation fund account (4) Reserve account
Jeged g FRY W @ a af # siaia B o g
(1) = @ e ad q (2) wREE |
3) FeeE My @| (4) 999 @

31.

What does capital structure refer to?
(1) The ratio of current assets to current liabilities
(2) The mix of debt and equity used to finance a company

(3) The scheduling of capital expenditures
(4) The allocation of retained earnings

gt wea A A e g 7

(1) o guiE 8 =9 26 7 S

(2) FEE Fva & faaaeeT &g 9gE R 94 FEA @ OmE
(3) Yol dl F ATFAET

(4) ufgenid FAE # Aded

29.

The interest lost on acquisition of an asset is taken into account in calculating
depreciation

(1) Depletion method (2) Annuity method

(3) Diminishing balance method (4)
U% UREE 3 AR 9T e 1 A F gRRE & TET A A 1w o 2
(1) i fafy (2) it fafy

(3) g 9 fafg (4) @ @ faf

Straight line method

32,

What is the main goal of financial planning?

(1) Increasing liabilities

(2) Managing HR policies

(3) Aligning financial decisions with business goals
(4) Preparing tax return

facfa Frdtom &1 e @eg @ & ?

(1) g g

(2) HR ifqdt &1 g9

(3) =GEiyE wedl & Ay fadE MR & FtEE

(4) & faedl F1 FE

UG-EE-June-2025 (Com.merce 4 Year) Code-C
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33. | What is meant by the term "financial leverage"?

(1) The use of equity to generate profit

(2) The ability of a firm to increase its tax rate

(3) The use of fixed-cost debt to increase returns
(4) Issuing stock to the public

“Rrdfig SoiET 9= Q@ 7 § 7
(1) @ FEir ¥ FEar & S
(@) &5 oH # ST FC K geM F
(3) "uE F oM B fwg MEd arM *T

(4) =T H T A FA

34. | What is one economic function of a financial market?

(1) Reducing shareholder voting rights
(2) Increasing production output

(3) Price discovery
(4) Asset depreciation

Rl faia 9 % O % FE A E 7
(1) #99rE FaeF AEEd H F4 F
(2) TEEA FAYE F aGH

(3) 7@ @A

(4) @9 eaEE

35.

Which of the following instruments is part of the money market?
(2) Treasury bills

(1) Corporate bonds
(4) Preference shares

(3) Equity shares
Preffafan 3 @ -1 @A gA AT B 2 7
(1) @R ave

(3) @Hdl AAa (4) AfHE A9

(2) TEEEE A= ‘\

36.

What is a function of the Securities and Exchange Board (SEBI) as per the
financial system?

(1) Increasing money supply

(2) Regulating interest rates

(3) Regulating financial markets to ensure fair play
(4) Tixing foreign exchange rates

frefia oM B AN ARf qen fafeE A (F) A

(1) T g qer

(2) & & H fafEn

@) o @ gefEd B & ol e aerd @ e
(1) fadelt mmn fafrma &1 a1 FeRReT

|
?
|
|

317.

1) T%rsﬁ @HE{?IR'“TT

Which philosophy focuses on identifying and satisfyving the needs of the

customer?

|
| (1)  Selling Concept
‘(3) MarketlngConcept

(2) Production Concept

(4) Product Concept
ﬁqmaaﬁmﬁmw«mﬁaﬁwmmm¢ W EF 3
¥ (7) SR, S 34

(4) mmﬂun

ji
Y
)

(3) ﬁm:r amsrrwn '

UG-EE-June-2025 (Commerce 4 Year) Code-C
(12) ;

i

 UG-EE- June~2025 (Commerce 4 Year) Code-C

13)




SET-X
Code-C

Questions

Which of the following is not part of the traditional 4Ps of the market;ing

38.
mix?
(1) Product (2) Price
(3) Promotion (4) People
Frefofes 3 @ $9-a1 R fee 3 qowea 49 & s T8 2 ?
(1) O @2 1™
@) (@) @ (se)
39. | Which of the following is a factor that can determine the pricing of a
product?
(1) Availability of packaging
(2) Financial market conditions
(3) Demand and competition
(4) Environmental safety labels
= 5 | 399 0F FRE & 9 6 99K 3 g H MURT BT T § 7
(1) W i e (2) foefa aeR aRkfeafmr
(3) =i N el (4) wEETE g daq
40. | Which element of promotion involves face-to-face interaction with

prospective buyers?

(1) Sales Promotion (2) Public Relations

(3) Personal Selling (4) Online Marketing

Had9 % B 4 99 A 79 Fael 3 69 AH-AM AR o B 2
(1) Fmm 7af (2) 7 a9

(3) & fawa (4) A faom
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41. | Which one of the following is not considered a solvency ratio?
(1) Debt to Equity Ratio (2) Proprietary Ratio
(3) Interest Coverage Ratio (4) Trade Receivables Turnover Ratio
frretfafead o @ P5A samasan oae 32 o = 2 7
(1) 7 THA AT (2) wiaE FTE
(3) @l HrEsET AT (4) @7 A A AT
42, | What is the primary objective of financial statement analysis?
(1) To reduce taxes
(2) To increase asset turnover
(3) To provide stakeholders with relevant data for decision-making
(4) 'To calculate depreciation
fa<ir faaror faseraor #1 gwEE 299 4 2 7
(1) T & =H &
(2) ufrEE wEd F o9
3) frfew 3 98 fours 3 oS SE2 SuTE T
(4) qeEed & T FA
43. | Under the indirect method, which of the following is added back to net

income to determine cash from operating activities?

(1) Increase in prepaid expenses

(2) Depreciation expense

(3) Decrease in accounts payable

(4) Gain on sale of land

G faiy B Sieia uiER TaiEiEl | 3% FuiRa 39 3 e Feed § §
g o A aigr o 8§ ?
(1) yded &1 ¥ gfa
(3) | @rdl § FH

(2) ToUe™ |4
@) 4 3 W I

UG-EE-June-2025 (Commerce 4 Year) Code-C

(19)



SET-X
Code-C

estion|
No.

Questions

SET-X
Code-C

44.

According to AS 3, how is dividend paid treated in the cash flow statement?
(1) Operating activity (2) Investing activity
(3) Financing activity (4) Not shown at all

AS 3 3 JgaR UFE e RaRer ¥ s e B 3 sded B A g ?

(1) "ae i (2) A wifafe

Question
No.

Questions \

| (3) famwdmger fafafy (4) fawge & agfa omm 8

[ 45. | Which one of the following adjustments is subtracted from net income in
the indirect method?
(1) Depreciation (2) Loss on sale of asset
(3) Decrease in inventory (4) Gain on sale of asset
oy faft 4 gz @9 & Fefafag & & e a9 gean o 2 ?
(1) g™ (2) e # feE | e
(3) =14 & (4) ofme=fa i fadr woary

46. | Who said, "Management is the art of getting things done through people"?

(1) Peter Drucker (2) Mary Parker Follet

(3) Henri Fayol (4) Koontz and O'Donnell
i85 %e1, “gaga @Pi % AEH A FH F@T A/ F 7
(2) ¥ U wfee

(4) F a1 &ERa

(1) 9T g%
(8) 20 %A
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47.

Which of these is NOT a feature of management listed in the book?
(1) Management is only a science

(2) Management is used everywhere

(3) Management is continuous process

(4) Management cannot be touched but is felt

T8 A PA-A §F F gEEa vgeEs # Edee 29 2 2

(1) Y9 Fad UF fazm 2

(2) HaHA F BT ST TN A A6 2

(3) wE= UF daq diFar 2

(4) "FEe & el T wg Aegd A o g 2

48.

Which principle says that an employee should get orders from only one
boss?

(1) Unity of Direction (2)
(3) Unity of Command (4) Order

-9 T 3 FE & oF S # dad 0 49 § SR a9 9 ?
(D R &1 o (2) dHar

(3) e €1 ugar (4) M9

Equity

49,

Which of these is a principle of Taylor's Scientific Management?
(1) Centralisation (2) Scalar Chain
(3) Science, not rule of thumb (4) Initiative
FH A -9 3 B S S H R R 2
(1) F=HT (2) @ A

(3) M9 o &1 fem 7E &8 (4) W
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50. | Who makes the mission statement and goals in an or
(2) Middle level management

ganization?

(1) Top level management
(3) Lowerlevel management (4) Workers

o §Ied § BYH aF U1 @ e a8 ¢

1) s w5 (2) W W JEH
(3 = &R 5§ (4) =fHF

51. | Donation received for a special purpose will be taken into which account

(1) Income and Expenditure account

(2) Assets side of the Balance sheet

(3) Liabilities side of the Balance sheet

| (49) Both assets and liabilities side

Rt RN whied @ fan o< aF & ReE @ d R s
(1) @ & =9 @l

@ R = e

3 [ & 3ga ™

(4) SREH 99 a1 96 30

Legacies are generally
(1) Capitalized and taken to balance sheet

52.

(2) Treated as Income

(8) Treated as Expenditure

(4) Either (1) or (2)

fadl 3 dFaR W

(1) 9iiga F@ o fage d foar o @
(2 3@ 3 w9 F @ &l 2

(8) ¥ % &Y ¥ Fagd dl &

@ FTa (1) I (2)
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53. | The nature of receipts and payment account is:
(1) Real account (2) Nominal account
(3) Personal account (4) Both (1) and (2)
Qi 41 A @ % g 2
(1) ardias @ (2) 9EE @
(3) @fFFI = @ (1) 3 @2) &=
54. | The value of the goodwill in the business will be highest if the majority of
the customers of firm are in nature of:
(1) cats (2) dogs
(3) rats (4) none of above
Fgad § @ F I IwaT B 4 B % TS H 9gaed e 0 # e
(1) e (2) =
(3) A (4) TR F § IE T&
55. | Which one is not the contents of partnership deed?
(1) Name of firm (2) Duration of partnership
(3) Commission, Salary (4) Fluctuating Capital
(1) w° & 9 (2) TERI | &N
(3) HHleM, da @) G 4§ IaR-SeE
56. | In the absence of Partnership Deed, partners are not entitled to receive
(1) Commaission (2) Interest on Capital
(3) Salaries (4) All of above
(1) 2 T | ==
@) = (@) SRF
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57. | When the time of withdrawals are not mentioned, Interest on drawing ig
charged
(1) For 6 months (2) For 8 months
(3) For 12 months (4) For 10 months
S T i G SRARET 7 &), a9 SN W @ qwid fR S 8
(1) 63E % T 2 8 WE & R
(3 12 W& 2 R (4) 10 7 & forg
58. | Which one of the adjustment not required at the time of admission of new
partner?
(1) Adjustment of Goodwill
(2) Adjustment of Profit sharing ratio
(3) Adjustment of Capital
(4) Adjustment of balance sheet
-9 A ¢ GEER $ 59 § G99 AATE T o
(1) &@ F FAEEH (2) @9 wewiE I § gArEee
(3) ot 1 F9EEHA (4) faed & gaEeH
59. | Gaining ratio means
(1) Old Ratio— New Ratio (2) New Ratio — 0Old Ratio
(3) 0ld Ratio —Sacrificing Ratio (4) New Ratio - Sacrificing Ratio
a9 I F A 2
(1) 97T ST — T4 A (2) a1 U — QAT ST
(3) GO HFTIF — &R A (4) A STHE — G AU
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60. | Realization Account is:
(1) Personal AJc (2) Real Alc
(3) Nominal Alc (4) None of above
ggell @ 2
(1) foft @ (2) aratas @
(3) AHHE @Al (4) =T § § FE T
61. | Which of the following is NOT a dimension of the general (contextual)
business environment?
(1) Economic (2) Political
(3) Personal (4) Technological
frefafas & & F9-a1 AW (IE0S) Faaias a9E 1 0F FEE 95 2 2
(1) s (2) TS
(3) e (@) dETEE
62. | What does the acronym PESTLE stand for in environmental analysis?

(1) Political, Economic, Social, Technological, Legal, Environmental

(2) Political, Environmental, Structural, Technological, Legal, Ethical
(3) Political, Economic, Social, Technological, Legal, Ethical

(4) Productive, Economic, Strategic, Technological, Legal, Environmental
gl faswer § qitadt s PESTLE & 1 a3W & ?

(1) e, i, amfs, dem, [, g

(2) TS, TEEROE, GEAeE, aae, [, AhE

(3) oiifees, oTifdfes, o, dE, [AiENE, SE
(4) TS, s, WHilas, dae, AN, TEEeE
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63.

How do socio-cultural factors influence business?

(1) They only affect internal company poliy
(2) They influence both demand and supply aspects of the business

(8) They are irrelevant in a market-driven economy
(4) They only apply to non-profit organizations
mﬁm-mmmwwﬁﬁm%?
() 3 3w SHaE FE A B g & 2

@) 3 =EEd 3 A a9 S A # Gk A 8

@) TR I adEgeE § Rawi €

(4) 2 Faw - e § A A @

What is one of the key impacts of globalization?
(1) It eliminates all government controls

(2) It reduces the need for competition -

(3) It increases the influence of international economic institutions
(4) It guarantees market success for all firms

4T 3 g gE A 0% A 7

(1) T B G FEA F G F B

(2) & SiTwEl 1 AEEEd F FH FA 2

(3) T FAUEE AHE FEnE % Y99 F g @
(4) T wd T 3 fad G FEAA F ML A E
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65.

Which of the following is not a feature of sound planning?
(2) Rigid

(3) Flexible (4) Simple

frstfirfaer # @ A 21 fdram 41 0% fagen =4 2

(1) @H-39dl 2 7%

(3) @ (4) AT

(1) Goal-oriented

66.

SWOT analysis in planning refers to:
(1) Strategy, Work, Operation, Time
(2) Strengths, Weaknesses, Opportunities, Threats

(3) Systems, Workforce, Options, Targets
(4) Standards, Ways, Objectives, Techniques

(1) 7orFifa, M, 9iEee, 799
(2) ofFaar Faefedl, Eay, Jat
(3) wonferdi, #rd-aw, fE, @8
(4) HF, TF, BW, TFS

67.

What type of plan is used for one-time or non-repetitive activities?

(1) Standingplan (2) Master plan
(3) Single-use plan (4) Contingency plan

(1) =Rl g (2) ARET JIEl
(3) Uhd IWGT o 4) s A
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Which of the following is not a characteristic of organisimg’
(1) Goal-oriented (2) Division of work

(8) Micromanagement (4) Coordination
FrafieT § | S-G9 oo @ R T *7
(1) - (2) Fd H e

8) T ueEA 4) T

69.

Which one of the following is a benefit of formal organisation?
(1) Unofficial rules

(2) Vague authority relationships

(3) Well-defined responsibilities

(4) Casual delegation

FrieiaT & @ -0 O JA9ERE T # @ ¢ 7

(1) eFvERE FEE (2) T AR

(3) guR=T @fa (4) oTEfEE gfafas

70.

Delegation is best described as:

(1) Assigning responsibility and retaining decision-making
(2) Sharing profits with subordinates

(3) Assigning responsibility and authority to a subordinate
(4) Centralizing control

fgeam ade 3 2 ¢

(1) g dreer a4 fAvfes 9% & =9 F

(2) dFE & |/ @9 # gedi & w9 A

(3) % e F AfGE Jo gieE Ao # w9 F

(4) fEw @ 32T % &9 4
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T71. | What is the correct definition of staffing?

(1) Managing only unskilled workers
(2) Controlling financial resources

(3) Placing the right person at the right job
(4) Distributing goods

wdt (wfe) @1 @@ afvarn @ 2 7
(1) Faa FE 40 F J949
() fadra darmt @1 fFEee

(3) e AR & & FE W @A

(4) aegeAt & faaeT
72. | Which of the following is an internal source of recruitment?
(1) Employment agencies (2) Promotions
(3) Campusrecruitment (4) Job portals
frfafae & @ F9-a1 st F1 A @9 2 7
(1) IR oEfya (2) Rt
(3) g st (4) FE 9
73. | Which training method involves learning while doing the actual work?

(1) Vestibule training (2) Internship

(3) Off-the-job training (4) On-the-job training
frg it Rfy  arafes S0 999 gET o | 7
(1) &deT SR (2) SRmgar

(3) Fd F ET W (4) Fd W gl
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74. | What is the main objective of directing?

(1) Planning resources
(2) Guiding and supervising employees
(3) Setting rules and regulations

(4) Balancing budgets

PR W T R R E 7

(1) e # e

@) FHERE # el 3 e

(3) Pl T R & Fai

(4 o HgE
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75. | Which of the following is not a leadership style?

(1) Authoritative (2) Democratic

(3) Laissez-faire (4) Bureaucratic
et 3 @ -4 Fgm G w2
(1) wiEEE (2) TFaE

(3) =AY Ted (4) FwME

76. | Which of these is a non-financial incentive?

(2) Profit-sharing

(1) Bonus
(3) Job security (4) Commission
|58 & Fm-a Tefaia dre 2 7

(1) F=a (2) @r9-gEA
(3) Fd-gra (4) FHio

(1) Maximizing sales revenue (2) Reducing production costs

(3) Maximizing owner's wealth (4) Minimizing tax liability
fasiia ey 1 orfves GRey @ & 2
(1) fasea wora siideEwadieor

3) w@rft F1 49 it

(2) IURA AF[ 9T

(4) I AN FATHHT
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77. | Which of the following is a barrier to effective communication?
(1) Clarity (2) Poor listening 7
(3) Feedback (4) Open culture
frferea & & -1 g g4 @ aadg 2 7
(1) e (2) =TE F97 i
@ e (4) T T |
|
78. | What is the first step in the process of controlling? g
(1) Comparing actual performance (2) Tékjng corrective action |:
(3) Measuring performance (4) Setting performance standardsll!
P 8 ST A e ol B 2 |
(1) awdfas e & ge (2) TS FaE S !
(3) [ A9 4 FRT 7% i ;
79. | What is the primary objective of financial management?

UG-EE-June-2025 (Commerce 4 Year) Code-C
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80.

; : AR
Which of the following is considered a financing decis1or |
@ Investing in training programsg

(3) Issuing bonds to raise funds 4)
Frfafes § @ SF-91 Rdier Fofg qe S g 7 _
@) & s @ @ gRwe aEE A R

@) PR @ P RA e G A () YRt 7T

(1) Buying new machinery .
Choosing suppliers

81.

Sales to Ram 336 rupees posted to his account as 363 rupees would affect
(1) Sales account (2) Ram's account

(3) Cash account (4) Firm account

o 3 B 3 336 71 @ 3% @n 7 363 vR & &9 A G [ TS e
F:

(1) &= @
(3) TFT T

(2) T & @
(4) w1 @

82.

Goods purchased from A for Rs. 2000 passed through the sales book the|

rectification of error will result in

(1) Increase of gross profit  (2) Decrease of gross profit

(8) No effect on gross profit (4) Increasein firm valuation

2000 5. & AR &l T 9 {9 §EE § 8 U @ T i U § qRereEe-
(1) &Fa @9 # 3fs erfl (2) @Fa a9 F 1 2

(3) ®FW @F W FE 99 T (4) T P T F ghs el

83.

A sale of rupees 100 to A recorded in the purchase book would affect
(1) P'saccount (2) Purchase return account

(3) Sales account (4) Both (2) and (3)

74 TEE 4 74 AF 100 599 91 @ & qafam g

(1) P& @ (2) #a avE =

(3) fo@ @) (2) 3 (3) a5

UG-EE-June-2025 (Commerce 4 Year) Code-C
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country to use its intellectual property for a fee?

(1) Joint Venture

(3) Licensing

fb g Aig ¥ s FOHl R Rl 3 # RS I T 9 O 3

(2) Exporting

(4) Contract Manufacturing

difeeh TR F TN FA B ATAN 3l 27

(1) §gF ITHH
(3) A

@)
(4) ey RFEE

G
4
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84. | Which of the following is element of the data base
(1) Data (2) Constraint and Schema
(3) Relationship (4) All of above
(1) areeT (2) T T =
(3) =Y (4) IThE A9l
85. | Which separate the physical aspect of data storage from the logical aspects
of data representation?
(1) Data (2) Schema
(3) Constraints (4) Relationship
g
(1) oAFe 2 @
(3) @ (4) =4
G
86. | In which entry mode does a company allow another company in a foreign |
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87.

In which type of countertrade does the seller agree toaccept goods or serviceg

as partial or full payment after supplying techn:
(1) Offset (2) Barter

(3) Buyback (4) Switch trading .

B o 3 SR & R S @ Gof el A SR $ A S
o g 3 & 3 agel T e @ e a0 § RY Fe A &7

(1) A (@) T R

(8) aWE &K (4) Rew amr

ology or capital goods?

What is the primary objective for a Multinational Corporation (MNC) to
engage in FDI?

(1) To avoid currency exchange

(2) Toinvest in domestic stock markets

(3) To gain control over foreign production and access new markets
(4) To only generate interest income abroad

Rl TS P (W ) 3 Fe oe € o O @ wei s T 3
(1) T&1 faFmE 8 599 % Tl

(2) =g &9 T&K ¥ fag 3 @

(3) faesh fafmio oo U 99 0% W29 W FE=r o &3 3 g

(4) Zaa f@2w & &9 98 99 & %[04

89.

Which document defines the objectives and scope of activities of a company’
(1) Articles of Association  (2) Certificate of Incorporation

(3) Prospectus (4) Memorandum of Association

BT gEa ol FA B Sged W B e B R g 37

(1) Wiz F Fiatian (2) FFrA oHmrg

@) ¥ (4) g dmfemy
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90.

In an LLP, the liability of partners is limited to:
(1) The entire debt of the firm
(2) Their personal property
(3) Their capital contribution to the LLP
“)

waaerdr d, AFert # ger difng 26 2

A fixed amount set by the government
(1) w4 % gl =77 7%
2
(3)
(4)

I T G %
Tl I O AFEH a%

@R Zr At o v o 9

91.

A prospectus for share debenture can be issued only by

(1) Public company (2) APrivate Company

(3) Both (1) and (2) (4) Neither (1) nor (2)
A9 RO P A G @ Sl e o g% 2 FEw
(1) dids—E F1 & (2 @ el T ZW

92

The stage of conceiving an idea and its working-up is called

(1) Prospectuses (2) Promotion

(3) Incorporation (4) Allotment

TF O A T AW T 3D RIS B SR B Fes D
(1) sfEE @ "R

(3) Fre {@) e
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TDS stands for

(1) Tax deducted at sources
(2) Tax deducted at share
(3) Tax pair deducted at sources
(4) All of the above

aEem & @y -

(1) &t W w91 Fod

(3) @t W F g % Fod

(2) d91 W T & TGt
(4) 30w gt
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93. | A debenture which does carries any charge on the assets of the company
(1) Naked debenture (2) Mortgage debenture
(3) Exinterest (4) Debenture sinking fund
W FH N FR e | R e a B
(1) SwiovE FoTes (2) I FOHA
@ w = (4) oA g [
! 94 [ Aprice inclusive of the interest for the period for which the seller held the
| debenture is called
(1) Ex interest price (2) Cum interest price
(3) Both (1) and (2) (4) Neither (1) nor (2)
mm%ﬁmﬁm%wwﬁmwwaﬁﬁr%waﬁawﬁa@m
g
D @ = (2) W& =™ 9
@ @) T (2) 3 @ () TEa (2
95. | Accounting Standard 16 deals with

(1) Depreciation of tangible assets
(2) Construction

(3) Borrowing cost

(4) None of the above

A% A 16 Tt B

(1) 3d @il & gogeE @

(2) P &

(8) =1 @re &

4) oviE F A B
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97.

TAN stands for

(1) Tax Collateral account number
(2) Tax Collection account number
(3) Neither (1) nor (2)
(4) Both (1) and (2)
e § oy &

(1) *= gies @mr =
@ TAQTE

(2) 3 9729 @ =
@ (1) T @) 3=

98.

What is the main purpose of conducting vertical analysis in financial

statements?

(1) To compare financial data over several periods

(2) To assess changes in market share

() To express each item in a financial statement as a percentage of a
base amount

(4) Toreconcile financial statement with tax returns

fod faaelt F et R 53 & ge7 wiw o & 2

Q) F oEldt $ Rl oniwst N ge S

(2) IR RRRH ¥ Radw &1 T 30 2 /R

@ Fll Reft R 3 o 9 &t oM UR 3 st @ w9 F = ) 3 R

@ N RICh $ g el REel & amifte 5@ 2 /R
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99. | Which of the following is classified as a liquidity ratio?

(1) Operating Ratio (2) Current Ratio

(3) Debt to Equity Ratio (4) Return on Investment
e 3§ & R axern orqu @ w9 # @i Rear B 7
(1) S= S (2) O ST

(3) T §HAT U (4) Ry W T

100. | The Inventory Turnover Ratio is calculated using:
(1) Net Income/Average Inventory
(2) Cost of Goods Sold/Average Inventory

(3) Total Assets/Inventory
(4) Gross Profit/Average Inventory

§AT1 e STU B TR & o §

(1) 9= JIE/0HT 391 @

(2) fomr #1 T aRgeT Fr arm/elEd g3t @
(3) FF uREHRE A &

(4) |Fd a4 /0Ed Al @
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9. The candidate MUST NOT do any rough work or writing in the OMR Answer-
Sheet. Rough work, if any, may be done in the question book-let itself. Answers
MUST NOT be ticked in the Question book-let.

6. There will be no negative marking. Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
in OMR Answer-Sheet will be treated as incorrect answer.

7. gse only Black or Blue BALL POINT PEN of good quality in the OMR Answer-
Sheet.

8. BEFORE ANSWERING THE QUESTIONS, THE CANDIDATES SHOULD
ENSURE THAT THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE
BOOK-LET. COMPLAINTS, II' ANY, REGARDING MISPRINTING ETC. WILL
NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE
EXAMINATION.
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Code-D
Q“Ifzscf.i"“ Questions
1. | Sales to Ram 336 rupees posted to his account as 363 rupees would affect
(1) Sales account (2) Ram'saccount
(3) Cash account (4) Firm account
9 F {336 B F IHD @ F 363 FUF F WY T G B w@r A g4t
FH:
(1) fept @ (2) T N @Al
(3) UFg @ RORE Re
2. | Goods purchased from A for Rs. 2000 passed through the sales book the
rectification of error will result in
(1) Increase of gross profit  (2) Decrease of gross profit
(3) No effect on gross profit (4) Incrcase in firm valuation
2000 &. ¥ A® gl T 4w fEp gEE 4 2T 9 A T g gam @
IR TRy
(1) & a9 &l gha 2rl (2) T @9 5 &4 2Rl
(3) TFT WY T FE UG T (4) FH P TS H gha e
3. | A sale of rupees 100 to A recorded in the purchase book would affect
(1) P'saccount (2) Purchase return account
(3) Sales account (4) Both (2) and (3)
F4 Q6% W a5 A® 100 5 # B @ geiad e
(1) P & @ (2) %9 994 @
3) fe=mr @ (4) (2) T (3) &
4. | Which of the following is element of the data base
(1) Data (2) Constraint and Schema
(3) Relationship (4) All of above
Fefefed | H9-A7 2REY & a2
(1) a1t (2) drer qar w@pm
(3) a4 (4) ITNFT Al
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5. | Which separate the physical aspect of data storage from the logical aspects
of data representation?
(1) Data (2) Schema
(3) Constraints (4) Relationship
I8 SHiFES] WS F Hioh T F AF RiHE & afbF weged F omm
N B
(1) ST (2)
(3) M@ (4) Q=Y
6. | In which entry mode does a company allow another company in a foreign
country to use its intellectual property for a fee?
(1) Joint Venture (2) Exporting
(3) Licensing (4) Contract Manufacturing
T8 a9 1S & O F o e e o RRE oF R 91 g @ e o
3eE T 1 I B R A 3
(1) #H3Fd 3T (2)
(3) aEAEmET (4) gy fafmpor
7. | In which type of countertrade does the seller agree to accept goods or services

as partial or full payment after supplying technology or capital goods?

(1) Offset (2) Barter

(3) Buyback (4) Switch trading

58 9 & Sfq-AmNR A fadar Qe a1 Jer awge #1 efid a9 s
a1 PN =9 F gegelt a1 dael 1 WEn w1 & fau g e 27

(1) e (2) 7w fafa
(3) a9E iz (4) g =z

UG-EE-June-2025 (Commerce 4 Year) Code-D
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8. | What is the primary objective for a Multinational Corporation (MNC) to|
engage in FDI?
(1) To avoid currency exchange
(2) Toinvest in domestic stock markets
(3) To gain control over foreign production and access new markets
(4) To only generate interest income abroad
hﬂﬂﬂgﬂgﬁu%ﬂ(@mm)%ﬁnwamwriwﬁwmmﬂ
(1) & o | F=e %
(2) 9 =Y I9R F FEg &
(3) foRelt fafmmior @ 70 et o wgw W e o T 3 R
(1) Fad Ry § = 9@ TG99 F & FHY
9. | Which document defines the objectives and scope of activities of a company?
(1) Articles of Association (2) Certificate of Incorporation
(3) Prospectus (4) Memorandum of Association
FH-T AT (6 B B IRl au T $ a3 O 5 2
(1) 9z & sfafdam (@) 7 s
(3) HfEEr (4) g e
10. | In an LLP, the liability of partners is limited to:

(1) The entire debt of the firm

(2) Their personal property

(3) Their capital contribution to the LLP

(4) A fixed amount set by the government

Teuedr #, TR @ 3gar dit 8 g

(1) WH & ol H:T TaF 2) I el SR 9%

(3) Tl F D N ARA TS (1) GRG0 ARG & FRed U 7%

UG-EE-June-2025 (Commerce 4 Year) Code-D
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What does capital structure refer to?

(1) The ratio of current assets to current liabilities
(2) The mix of debt and equity used to finance a company

(3) The scheduling of capital expenditures

(4) The allocation of retained earnings

OSil FYET & H A § 7

(1) =i T | =R ke #@ O

@ B FE N 2 wgE RO a9 a9d & e
(3) Yo AT H SFHF

(4) FERG FAE F AEeA

12.

What is the main goal of financial planning?

(1) Increasing liabilities

(2) Managing HR policies

(3) Aligning financial decisions with business goals
(4) Preparing tax return

foi e &1 9= @ 741 2 7

(1) ZFE

(2) HR Ffdi #:1 g4

(3) @EETE adi % a e e ate

() % faTel @ for

Question
No.

Questions

13.

What is meant by the term "financial leverage"?
(1) The use of equity to generate profit
(2) The ability of a firm to increase its tax rate

(3) The use of fixed-cost debt to increase returﬁs

(4) Issuing stock to the public
(1) @ T 3G A & IEn
©) FRE wH & ST #T a7 g &1 AHdl
(3) gEdl B FoM & g FiET dFE #=T

(4) TG FB @ A FEAT

UG-EE-June-2025 (Commerce 4 Year) Code-D
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14.

What is one economic function of a financial market?
(1) Reducing shareholder voting rights
(2) Increasing production output

(3) Price discovery

(4) Asset depreciation

Frll Ferig SR 1 O oNiE A E 7
(1) SRS Fae JET BB FA
(2) IEEA LY H TG

(3) 5 @

(1) | geE™

UG-EE-June-2025 (Commerce 4 Year) Code-D
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15. | Which of the following Instruments is part of the money market?

(1) Corporate bonds (2) Treasury bills

(4) Preference shares

R § § F9-0 @ T o 3w d 7

(3) Equity shares

(1) FNRE Tue (2) THNE fqum
(3) HaT g (@) FfemH sigr
16. | What is a function of the Secur ‘ities and Exchange Board (SEBI) as per the
financial system?
(1) Increasmgmoneysupply
(2) Regulating interest rates
(3) Regulating financial markets to ensure fair play
(4) Fixing foreign exchange rates
_Wm%mmwﬁﬁwﬁé(ﬁ)wwmw%?
(1) & gt Fem
2) =9 =T #=1 fafas
3) W‘ﬁﬁﬁfﬁaﬁiﬁﬁ%%ﬁﬁ?ﬁﬂmﬂrﬁﬁﬁﬁmﬂ
(4) el 721 fafma < & faor
17. | Which philosophy focuses on identifying and satisfying the needs of the

customer?

(1) Selling Concept (2) Production Concept

(3) Marketing Concept (4) Product Concept
m-mmmaﬁrmweﬁzﬁlmmmwwﬁ@zmwwﬂ&m%?

(1) fas s@emon (2) TR SO

(3) RArm amamon (4) IEE SN

UG-EE-June-2025 (Commerce 4 Year) Code-D
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18. | Which of the following is not part of the traditional 4Ps of the marketing
mix?
(1) Product (2) Price
(3) Promotion (4) People
et & @ #M-a1 fawe g 3 oo 49 5 9/ 395 2 7
(1) SqE (2) g4
(3) "I (4) @ ()
19. [ Which of the following is a factor that can determine the pricing of a
product?
(1) Availability of packaging (2) Financial market conditions
(3) Demand and competition (4) Environmental safety labels
Fr1 & @ &F-81 0 &3 2 5 50 S % 9od % e 57 5% § 7
(1) TEH 1 Iudemr (2) fadm s=r ol
(3) HT T gferegt (4) TEETE gE a6
20. | Which element of promotion involves face-to-face interaction with
prospective buyers?
(1) Sales Promotion (2) Public Relations
(3) Personal Selling (4) Online Marketing
i F P F a7 § WG Barel DAY ST ofT SR o 8 7
() fama | (2) &9 T9F
(3) AT [y (4) 3RS fA9oE
21. | Which of the following is NOT a dimension of the general (contextual)

business environment?

(1) Economic (2) Political

(3) Personal (4) Technological

Rl § @ S G (T A e B & SAEE T R 7
(1) anfes (2) =S

(3) @fd @) drEfEE

UG-EE-June-2025 (Commerce 4 Year) Code-D
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22.

YEENE G § uied = PESTLE & 47 o9 & 2

What does the acronym PESTLE stand for in environmental analysis?
(1) Political, Economic, Social, Technological, Legal, Environmental
(2) Political, Environmental, Structural, Technological, Legal, Ethical
(3) Political, Economic, Social, Technological, Legal, Ethical

(4) Productive, Economic, Strategic, Technological, Legal, Environmenta]

(1) s, S, T, e, B, e
(2) TS, FEEE, S, a, [, 3
(@) TSHITS, S, R, aEE, A, e

(4) SRS, ANF, THGS, T, [, @y

23.

(4) They only apply to non-profit organizations
ZIEAE F ARS8 0% BE B0 TR T9Ed Far §

How do socio-cultural factors influence business?
(1) They only affect internal company poliy
(2) They influence both demand and supply aspects of the business

(3) They are irrelevant in a market-driven economy

(1) 4 %49 Sais F g B gaEd & ¥

(2) 3 ZEAEE % A T AYRT IHr B FERT B ¥
() 2 A= 3t e & owtE ¥

(@) 3 Faq AW oAl § arp B ¥

SET-X
Code-D
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24. | What is one of the key impacts of globalization?

(1) It eliminates all government controls
(2) It reduces the need for competition

(3) Itincreases the influence of international economic institutions
(4) It guarantees market success for all firms

G & A gHE § F 0F FE-a 2 7

(1) & @l qEF fEaer @1 T Far 2

(2) I ufqeqdt # AEFHAT FH FH HAT 2

(3) T AqUSE AF: Genslt # 999 F gerr 2
(4) T8 99 B9 3 8 IR g%aar # M 34T B

UG-EE-June-2025 (Commerce 4 Year) Code-D

®)

25. | Which of the following is not a feature of sound planning?
(1) Goal-oriented (2) Rigid
(3) Flexible (4) Simple
fr=feiaa ¥ § ®W-81 3 a3 @ Gevar 98
(1) qEg-33E (2) o
(3) el (4) <
26. | SWOT analysis in planning refers to:

(1) Strategy, Work, Operation, Time
(2) Strengths, Weaknesses, Opportunities, Threats
(3) Systems, Workforce, Options, Targets
(4) Standards, Ways, Objectives, Techniques
Frie A w@ife Rsawe weiid T 8

(1) Trfy, Fd, oRewd, 9

(2) ufREl HEONRET, STEEY, @t

(3) wonferai, Fr-aw, e, T8

(4) WWEH, T, I, THAD

UG-EE-June-2025 (Commerce 4 Year) Code-D

©)




(1) Standingplan (2) Master plan

(3) Single-use plan (4) Contingency plan

OF-ER ST ARG R B R e s @ A wEe @ o 8

SET-X
Code-D
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27. | What type of plan is used for one-time or non-repetitive activities?

(1) =& FE (2) AR A
(3) THA ITGN TSl (4) THETE Ao
28. | Which of the following is not a characteristic of organising?
(1) Goal-oriented (2) Division of work
(3) Micromanagement (4) Coordination
e § | PH-91 @ F s 187 22
(1) TEE-IqE @) #d F e
3 TJ&H T (4) @93
29. | Which one of the following is a benefit of formal organisation?

(1) Unofficial rules

(2) Vague authority relationships

(3) Well-defined responsibilities

(4) Casual delegation

fFffaraa 8 8 #H-91 0% ARG G2 & @ § o7
(1) T A

(2) FE= AGEL TEY

(3) g afae

(4) FEEE gt

(1) Assigning responsibility and retaining decision-making
(2) Sharing profits with subordinates

(3) Assigning responsibility and authority to a subordinate
(4) Centralizing control

i warag afig

(1) afge aar a4q1 s 9% 3 =7 8

(2) ardEdt & \Y @18 FH FEAEE & 59

@) S 1 A q SR G & e g
(4) I w1 F=E & w9 H

SET-X
Code-D
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30. | Delegation is best described as:

UG-EE-June-2025 (Commerce 4 Year) Code-D

(10)

31. | A prospectus for share debenture can be issued only by
(1) Public company (2) A Private Company
(3) Both (1) and (2) (4) Neither (1) nor (2)
Jigr FOOE & R e B A A A e € P9
(1) wEAE FA G (2 @ el O @
@) (1) 7T @ @ MA@ TA @

32. | The stage of conceiving an idea and its working-up is called

(1) Prospectuses (2) Promotion

(3) Incorporation (4) Allotment
Q%ﬁaﬁwwﬁwmwzﬁwzﬁrﬁ%%
(1) e (@) Hadd

@) P () SEE

UG-EE-June-2025 (Commerce 4 Year) Code-D
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33. | A debenture which does carries any charge on the assets of the company 36. | TDS stands for
(1) Naked debenture ~ (2) Mortgage debenture (1) Tax deducted at sources (2) Tax deducted at share
(3) Exinterest (4) Debenture sinking fund (3) Tax pair deducted at sources  (4) All of the above
#éug @ e 2

TH FOOT S FEA F IREERE R B IR g8 S © st _ P S ;
(1) s w : (1) @it 9 T B F (2) g T FT F F J'

2 e ~ a - - |

TR (3) @ T & FH & Fewl () TIEFE A9 :
3) W@ == (@) oA fag fi |

37. | TAN stands for
34. | A price inclusive of the interest for the period for which the seller held the (1) Tax Collateral account number
debenture is called (2) Tax Collection account number
. % (3) Neither (1) nor (2)

(1) Ex interest price (2) Cum interest price (4) Both (1) and (2)
(3) Both (1) and (2) (4) Neither (1) nor (2) g & o ®
o i & foq fosber 3 19 4Rl e o, 39 omafy % @ | g @ (T T R B (@ X W g
ST & _ @ A Q) TEH @) (4) (1) T (2) a4
okl (2) §e = eH 38. | What is the main purpose of conducting vertical analysis in financial
(3) (1) 1 (2) I (4) A () =& (2)' statements? .

35. | Accounting Standard 16 deals with
(1) Depreciation of tangible assets
(2) Construction

(3) Borrowing cost
(4) None of the above

G THY 16 F=EeT 2
(1) 7 @l & geged @ (2) fE d

(3) o @rE |
(4) SUUF # | FE T -

UG-EE-June-2025 (Commerce 4 Year) Code-D
(12)

(1) To compare financial data over several periods

(2) 'To assess changes in market share

(3) To express each item in a financial statement as a percentage of a|
base amount

(4) To reconcile financial statement with tax returns ,

Rl et & St R F0 3 T e 4 E 7 ‘

(1) 2 orafidt & R sfiwel @ ga T

@ T ReEd 7 ofEe @ oEe #0 6

(3) ﬁﬁﬁ!ﬁ?ﬁqﬁawﬁuﬁ%qﬁﬁaﬂmm?ﬂ%mm%@ﬁﬁ

i
W Pl @ a R Rel @ wRRE S0 S R J

HH D

|
|
|

UG-EE-June-2025 (Commerce 4 Year) Code-D
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39. | Which of the following is classified as a liquidity ratio?
(1) Operating Ratio (2) Current Ratio 42. | Legacies are generally
(3) Debt to Equity Ratio (4) Return on Investment (1) Capitalized and taken to balance sheet
2 Tr qted as 3
Frfifas § 3 R aeaan omu @ &9 § afiga [ T ? (2) Treated as Income
(3) Treated as Expenditure
1) HdaH ERRIG] S
= ey (1) Either (1) or (2)
(3) =T HHGT U (4) s © uEE ‘ e 23 e
40. | The Inventory Turnover Ratio is calculated using: (1) oA T Fo0 foge W e e @ !
! > ; CEN '
(1) Net Income/Average Inventory (2) o3 & W9 H FEEd e i
(2) Cost of Goods Sold/Average Inventory . (3) @7 F W9 | Fdgd Bl 8
(3) Total Assets/Inventory - ) ) A (1) I (D)
(4) Gross Profit/Average Inventory f
3 I O F S E 43. | The nature of receipts and payment account is: ;
A T r
(1) éﬂ;m/ g _ (1) Real account (2) Nominal account ;
@ Pl T TR F A/ = A
: >ersonal ac 4) Both (1) and (2 |
3) £ Wﬁm/ﬁﬁ & (33 Personal ucciunf o (4) Both (1) and (2) I
4) TH AH/AET T oty &1 SN B A & |
41 ; . (1) awdiEas @ (2) THHE @l |
- | Donation received for a special purpose will be taken into which account (3) AfFTE A @) (1) g (2) a4 |
(1) Income and Expenditure account ]
f e echeet 44. | The value of the goodwill in the business will be highest if the majority of]
(3) Liabilities side of the Balance sheet the customers of firm are in naturc of:
(4) Both assets and liabilities side & cad T
ot o s = i cats 2) dogs
(1) 9@ 491 =39 @'l‘n'i?q T e ? (3) rats (4) none of above
i T A A W B OeE H gEe M T &
@) fazg @1 ofteaf ag ZrE § W # O ‘rfnaﬁd g e = 5
" ot
(3) foze =1 25 vy (1) Fea @ =r= | i
(4) 9ftEEaRT aa 23ar 9y SN /J @) @ (4) I ¥ | B3 T

- L
UG-EE-June-2025 (Commerce 4 Year) Code-D UG-EL-June-2025 (Commerce 4 Year) Code-D
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45. | Which one is not the contents of partnership deed? 49 Gaining #atio means
’ ’ i e
(1) Name of firm (2) Duration of partnership _
(8) Commission, Salary (4) Fluctuating Capital (1) Old Ratio — New Ratio (2) New Ratio—Old Ratio
?ﬁ'-?iﬁﬁ@ﬂﬁ qaE $ aﬁﬁrg' T 77 (3) Old Ratio — Sacrificing Ratio (4) New Ratio— Sacrificing Ratio
) w1 H ™ @) TRl F o 3
NI G]f]_q d 99 %
(8) FeM, I @) goft ¥ SaR-TeE. ‘ IS
(1) O I — T S (2) A I — T AT
46. | In the absence of Partnership Deed, partners are not entitled to receive (3) AT AU — N I (4) T FIIE — AP FIE
(1) Commission (2) Interest on Capital - _ ]
(3) Salaries (4) All of above
I 50. | Realization Accountis:
I HolE Bl SIguRE §, WEER B WS H B AE T 8 o, Bessadl A 5 e
o) S 5 g\TrTT el ersonal Alc (2) Real Ale
@) T @ o (3_) Nominal A/c (4) None of above
FAl @
47. \11;::1 ’;he time of withdrawals are not mentioned, Interest on drawing is (1) F=l @ (2) RS S
charge e R Bt
BIGEIE CEELE: H¥d FE AFal
(1) For 6 months (2) For 8 months W - Y TrrET
(3) For 12 months (4) For 10 months
R i ) 51. | Which of the following is not a feature of private comp:s 24
- LI e g N, gis e of private company
(1) 6 7@ % fou (2) 8 77 3 fu (1) Restriction on transfer of shares
(3) 12 1 % fo (4) 10 9% % fou (2) Can invite the public to subscribe to shares
. s 3) Minimum 2 and maximum 200 members
48. | Which one of the adjustment not required at the ti issi (
partner? 1 L e. ime of admission of new (4) Must use "Private Limited" in its name
(1) Adjustmentof Goodwill (2) Adjustment of Profit sharing ratio P & & Al @ R & 4 P e &
(3) Adjustment of Capital (4) Adjustment of balance sheet (1) aigt & SFRer o¥ Haay
FH-A1 9 ¢ EET & U39 & 999 A49E e 27 (2)mmq?ra§sﬁagaism:f%mmﬁaﬂm%
g) il FHIT (2) T HEA ST F e (3) AW 2 qA A 200 TWHE
— EE-J) ‘35’: F A (4) fazd =1 quEeE @) oY A9 ¥ wEde RS & SWER H M
= une-2025 (C 2
(Commerce 4 Year) Code-D UG-EE-June-2025 (Commerce 4 Year) Code-D
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52.

Under which Act are Government Companies registered in India?
(1) Indian Partnership Act, 1932
(2) Companies Act, 2013

(3) Industrial Policy Act, 1956
(4) Government Enterprises Act. 2005

R SRFEY 3 oifia TRg § ave FetEr ek # oS 8
(1) 9RGE g=Er AnHEE, 1932

(2) FEE AMFEH, 2013

(3) it Sifa sifafEs, 1956

(4) BER I9FHA AEHIH, 2005

53. | Which type of account Vis generally opened by businesses that require
frequent and large transactions?
(1) Savings Account (2) Fixed Deposit Account
(3) Current Account (4) Recurring Deposit Account
R5E S 91 @ SRR T 37 @0 2 @ o § R e qe a3
-2 F AFEEA Bl 27
(1) =d @ (2) dEfE S @
(3) =g @mr (4) AR S Err
54. | What does UPI stand for in digital payments?

(1) Unified Personal Identification  (2) United Payment Integration ‘

(3) Unified Payments Interface (4)  Universal Payment Identity |
feforea gIaAl & gAeTE A F91 o9 2 |
(1) ZFHEES THTE AR (2) FAHES I e

(3) RS T geTEH (1) IhEda T amgsfed

UG-EE-June-2025 (Commerce 4 Year) Code-D
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55. | Which of the following is not a characteristic of preference shares as a
source of finance?
(1) TFixed rate of dividend
(2) Voting rights in all decisions
(3) Priority over equity shareholders in dividend payments
(4) Less risk compared to equity shares
fr=ffas & @ 20-91 f99 % 99 7 =9 9 AfFm S 71 Gwa 99 E
(1) i @ FivEe
(2) | FoE § gaeE A Ajgw
(3) THY PRI H FHA AXITE F G A AEEET
(4) A e N G H FH AGEH
56. | What is the main advantage for a foreign company to issue ADRs?

(1) It allows them to raise capital in their domestic currency
(2

(3)

It exempts them from U.S. securities regulations
It provides access to the large pool of U.S. investors and increases
visibility

(4) It avoids exchange rate fluctuations

e & Fri g PRl PRe e & e e B

o T o g T T G g e B B
%eﬁﬁaﬁﬁ%ﬂﬁ%ﬂ%ﬂ%mq@amm%mﬂgﬁﬂ@w%

7z Rfygg X  Sa-ued § FEE 8

1)
(2)
(3)
()

UG-EE-June-2025 (Commerce 4
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57. | A patent is granted for an:
(1) Artistic work
(3) lavention

(2) Original musical composition

(4) Business name

aﬁﬁmﬁﬂ?ﬂ%@ﬁ:
(1) FAEH FA S fC (2) S difee @ F
3) =R 3 @) =™ 3 99 & @

58. | Which of the following is NOT a stage in the entrepreneurship development |

process?
(1) Project implementation (2) lIdea generation
(3) Retirement planning (1) Business plan development

efoiEa § € S9-91 g e g9 § s o 98 e
(1) urEeT (2) faEr e
(3) &gty FrsH (4) ZEEE A1 fGHg

59. | WTO replaced which earlier organization?

(1) IMF (2) GATT
(3) UNCTAD (1) NAFTA
s A3, 3 R ©@ s 3 sy
(1) E ™ % @ e

(3) FFEE (4) T

60. | Who 1ssues a Letter of Credit?
(1) Exporter (2)
(3) Bank on behalf of the importer (4)

AME-93 FH A FA 27

Importer
Customs authority

(1) FaEs 2) smEE
: (3) wmaE # A7 | IF (1) -9 miter
UG-EE-June-2025 (Commerce 4 Year) Code-D
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61. | Partner's current account are transferred into
(1) Partner'sloan account (2) Partner's Capital account
(3) Both (1) and (2) (4) None of above
HIEER & =] @i & @i A S e
(1) ®EER % %9 @6 F (2) ¥ERN % T @™ 8§
(3) (1) 9 (2 aF (4) TTE T 8§ B @
62. | All books of accounts is closed, when
(1) Dissolution of Firm (2) Dissolution of Partnership
(3) Both (1) and (2) (4) None of above
(1) %H Fr e 2ar 2 (2) |ZEd % GgeT or &
(3) (1) &1 (2) aH @) I F F I T
63. | A b;mkihg partnership firm can have

(1) Not more than 50 partners
(2) Not more than 10 partners

(3) Not more than 5 partners
(4) Not more than 20 partners

o JfET aEErd w= oA 8w &
(1) SifEpam 50 HEER
(2) AT 10 \EER
(3) ifyepan 5 WEHAX
(4) 3ffepan 20 HEER

UG-EE-June-2025 (Commerce 4 Year) Code-D
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g Questions
64. | Depreciation fund at the time of admission of new partners are transferred

to

(1) Resolution Alc (2) Partner's Capital Account
(3) Both (1) and (2) (4) Neither (1) nor (2)

T GERA 3 WY F T GogEw R a0 st R S
() EN 8™ ¥ (2) HEER & § @ o

® @733 @ Ta QT Q)

65. | A, B and C are partnersin a firm. If D is admitted as new partner
(1) Old firm is dissolved
(2) Old partnership is dissolved
(3) Old partnership is reconstituted
(4) None of above 3
A BT C TF %4 § H1%F 2| U 966N 3 &9 § it D & w3y R o
() 90 ¥ F faEed M (2) [ AERE & R 2
(3) WEEM F Fes &6 (4) T § FE T8
66. | Debentures issued as collateral security for rupees 10,000 will be debited

to
(1)
(2)

3)
“4)

A7 gfraid # =9 A F9 #297E # AU 10,000 59 e 5 e
(1) ZorE = @ § (2) 9% g #

Debenture suspense account
Bank account

Debenture account
None of above

3) ZTE @ § (4) 29 A § F12 T8t

UG-EE-June-2025 (Commerce 4 Year) Code-D
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SET-X
Code-D
Quf(ﬁ:_iou Questions
67. | The balance of sinking fund investment account after the realization of
mvestment is transferred to
(1) Profit and loss account (2) Profit and loss appropriation account
(3) Debenture account (4) Sinking account
fRaer 1wt & 9 e iy Fag @5 &1 99 eEaE o 3
(1) @< qar 2iiW &g & (2) @M T T BEESE E@W A
(3) FOH A # (4) =57 =5 F
68. | Share premium money can be used for
(1) Payment of dividends
(2)  Writing off goodwill
(3) Issue of fully paid bonus shares
(1) All of above
T difier o T I9EM RAT S AEAT e
(1) @riel % FEE & o
(2) WE & e & ol
(3) Tt @ g el & i & R
(1) ITET |/
69. | Shares which are not preference shares are called
(1) ILquity share (2) Surrender of share
(3) Under subseription (4) Reserved and surplus
diqr A A oy W ¥ | FE E
(1) |uar i (2) AN T THI
@) F9 AR (4) HEE qU S

UG-EE-June-2025 (Commerce 4 Year) Code-D
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—
Q“:.s‘i"“ Questions
NO. %
70. | ESOP stand for

(1) Employee Stock Option Plan

(2) Employee Stock Option Premium
(3) Employee Share Option Plan

(4) None of the above
ESOP 1 39 ? :

(1) FH= &9 e dem
(@) FHIM Sy FF dee

(z)aﬁarﬁﬁﬁaﬁwéﬁ@
(4) I A B T

SET-X
Code-D

Qn;sot.ion Questions
73. | Under the indirect method, which of the following is added back to net

income to determine cash from operating activities?
(1) Increase in prepaid expenses

(2) Depreciation expense

(3) Decrease in accounts payable

(4) Gain on sale of land

H 58 g5 o F Ser o ® 2
(1) e = & gfa

(3) ¥ @ F #H

(2) g =4
(4) 9M F fH 9T A9

71. | Which one of the following is not considered a solvency ratio?
(1) Debt to Equity Ratio (2) Proprietary Ratio _
(3) Interest Coverage Ratio (4) Trade Receivables Turnover Ratio
e 3 & B8 ol Sigue Té A o 8 7
(1) 1 F91 AU (2) iR U
(3) FAM SEBRA IFIA (4) R WE A& T
72. | What is the primary objective of financial statement analysis?

(1) To reduce taxes

(2) Toincrease asset turnover

(3) To provide stakeholders with relevant data for decision-making
(4) To calculate depreciation

favi faaer fagevr &1 oAt S2eg g B 7

(1) & % FH F

(2) dfte=fa amEd 1 gem

(3 o % M fqarat 31 owmie s aueer a

(4) TR F T FET

UG-EE-June-2025 (Commerce 4 Year) Code-D
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74. | According to AS 3, how is dividend paid treated in the cash flow statement?
(1) Operating activity (2) Investing activity
(3) Financing activity (4) Not shown at all
AS 3 % AR %3 HaE fawer § amisr Fam B 39 Faea o aw & 7
(1) yewe Tty (2 Mg TR
(3) fammor wfafafy (4) Foga T8 o S @

75. | Which one of the following adjustments is subtracted from net income in

the indirect method?
(1) Depreciation (2) Loss on sale of asset
(3) Decrease in inventory (4) Gain on sale of asset

s ffy § = o/ § frafrad § & e aREee B 9EE 9w e

(1) o™ ) dftegwfy & 5 o &=
(3) = A A (4) SRy & R 9w @
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No.

Questions

76.

: : » through people"?
Who said, "Management is the art of getting thins done through people"?

(2) Mary Parker Follet

(4) Koontzand O'Donnell
”n ?

(1) Peter Drucker
(3) Henri Fayol
R e, ‘S SN B e W FE @ w ©
1) X 33T @ ¥ T T
(3) 0 A (4) = qu1 S

TR

Which of these is NOT a feature of lllanagexnlelit listed in the book?
(1)
(2)
(3)
(4)
T A P gEE § g wae 1 fade 9@ w7
(1) ¥eeF a9 0% i &

(2) Y5 & & e TN 6T S ©

(3) ¥E=EH UF Had G §

(4) TEEE TS FE T Feqd A A A

Management is only a science
Management is used everywhere
Management 1s continuous process

Management cannot be touched but is felt

SET-X
Code-D
mlfliion Questions
79. | Which of these is a principle of Taylor's Scientific Management?

(1) Centralisation
(2)

(3)
)

(1) FE

(2) eI =

(3) R S A
(4) TE

Scalar Chain

Science, not rule of thumb
Initiative

78.

Which principle says that an employee should get orders from only one
boss?

(1) Unity of Direction (2) Equity
(3) Unity of Command (4) Order
F-91 fGara g2 Fedl & & U FUE S d9¢ uh 4 A SRy A aneg ¢
(1) = @1 oFa (2) gHal
(3) FEa F o (4) oy

80.

Who makes the mission statement and goals in an organization?
(1
(3)
U F H A a9 qo g 9 &9 © 7

Top level management  (2) Middle level management

Lowerlevel management (4) Workers

(2) 7F X 08999
(4) 9H®

(1) Y @7 &

3) = @Y @

UG-EE-June-2025 (Commerce 4 Year) Code-D
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81.

Which of the following is not considered a part of ledger?
(1) General; ledger (2) Firm

(3) Debtors (4) Creditors

frffem & & -1 @a-ad 1 S T8 A Ao
(1) A e 2

(3) AR 4) AW

UG-EE-June-2025 (Commerce 4 Year) Code-D
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(1) Receipts and payment is a real account

(2) Income and expenditure is a nominal ac
accounting period

~ -~ - - =N [aY e

=g 3 9 TE-a1 $99 99 e e

(1) WS O FiaH & awes a8
(2) ¥ 99 =4 U G9EE T8

5 roct?
82. | Which of the following statement is not correct!

count

(3) Income and expenditure accountrelate to previous. current or following

(4) Non-cash items are not shown'in receipts and payment account

(3) IE FE =4 Tl Ued, I J9a1 S e e § deiag 2 g
(@) B T F AT T FAE @@ A TE e o 2

SET-X

(1) Convention of separate and entity
{2) Convention of conservatism

(3) Convention of cost concept

(4) Convention of money measurement
Mg § F9-81 @ aEiET e 3
(1) 97% 71 3 F 9ud

(2) " ER & 9igE

(3) TFE 829 F 9RuE
4) 29 999 F oo

UG-EE-June-2025 (Commerce 4 Year) Code-D
(28)

83. | Which of the following is an accounting convention?

SET-.)(
Code-y Code-D
! Q“_(\’vi:'im Questions
84. | Match the following:
A. Conservatism (i) Full and clear Information
B.  Full disclosure (ii) Unchanged accounting practices
C. Consistency (ii1) Relevant details ,
D. - Matenality (iv) Anticipate no profit but provide for all 5
possible losses '
(1) A-1v, B-1, C-11, D-1ii (2) A-1. B-1. C-1, D-1n %
(3)  A-ii, B-iii, C-iv, D-i (4) A-iii, B-iv, C-iii, D-i 1
(@) T () T T = AR
@) i T (ii) k |
() T (iii) HTER
(=) SifaFd (iv) f guiea
(1) &-iv. -1, T-11, -1 2 &
(3)  -ii, @-iii, T-iv, I-i ) F
85 The amount brought in by the proprietor in the business should be credited t
(1) Cash account (2) Drawingaccount |
(3) Capital account (4) Proprietor account
FaEy § @ ZN Al T R # sise B S e |
(1) UFs @ A (2) ETT @ F g
(3) T @ A () @ F g A
86. | The rent paid to landlord be credited to
(1) Landlord account (2) Rent account
(3) Cash account (4) Drawing account
amﬁ‘wmﬁmlmm%mm:
(1) sErd @ | @ R ed A
L (3) % @ A (4) e Wi H

____—~ UG-EE-June-2025 (Commerce 4 Year) Code-D
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87. | Identify which of the following statement is false
(1) The posting is done in the Journal
(2) Ledger is a set of accounts
(3) Journal records transactions and chronological order
(4) Ledger records transactions in hand analytical order
TS FRIC PH-T1 FE I 87
(1) 9 § QRET @ AE E
@ @S T H Fg= 8
(3) ST A9 T FRIHEE F9 F EE H
@) TE-TE v RATTEE 79§ au-a e B E

88. | Profit and loss on depreciation fund investment is transferred to
(1) Profit and loss account (2) Assets account
(3) Depreciation fund account (4) Reserve account
SerRr Py Faer 9T a9 qun iy F sfafd fear s &
(1) @ T e ' A (2) wREfy @ J
(3) gegeE fAfg @@ F (4) @93 @ |

89. | The interest lost on acquisition of an asset is taken into account in

calculating depreciation
(1) Depletion method
(3) Diminishing balance method
o AR @ GREEST 9T SN A F e # oE § e § v o 8

(1) e faf (2) i fafa

(2) Annuity method
(4) Straight line method

3) gt 99 fafy (4) T @ fafy

UG-EE-June-2025 (Commerce 4 Year) Code-D

(30)

(1) Type A error (2) Type B error
(3) First class error

Frfefad & & - ox s g2 2

(1) 7 AFe (2) 7 B IR
(3) w00 e () @R g

(4) Compensating error

SET-X
Code-D
Question
N Questions
90. | Which of the following is a clerical error?

91.

What is the correct definition of staffing?
(1) Managing only unskilled workers

(2) Controlling financial resources

(3) Placing the right person at the right job
(4) Distributing goods

el (i) # = ot 2 7

(1) 339 TEed “HH & JE9

(2) fadm aaee & FET

(3) g At # w &E 9 T

(4) FEA H FAC

Which of the following is an internal

(1) Employment agencies (2) Promotions

(3) Campus recruitment (4) Job portals
ﬁmﬁﬁf@aﬁﬁﬁm-wﬁzﬁreﬁaﬁzﬁﬁﬁa%?
(1) R T (2) gareEt
(3) da (@) FE A

source of recruitment?

UG-EE

2025 (Commerce 4 Year) Code-D
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SET-X
Code-D
'Q“;,sgm Questions
93. | Which training method involves learning while doing the actual work?
(1) Vestibule training (2) Internship
(3) Off-the-job training (4) On-the-job training
Rem R Ry & aeais a6 #x e die O ©
(1) &S SR (2) SR
(@) F F T AR (4) FA T ARET
94. | What is the main objective of directing?
(1) Planning resources
(2) Guding and supervising employees
(3) Setting rules and regulations
(4) Balancing budgets
e o1 7. R A & 7
(1) gEEE F FEe
(2) FHEME # Arfed a waa
(3) T T R & Fare
(4) I HFH
95. | Which of the following is not a leadership style?
(1) Authoritative (2) Democratic
(3) Laissez-faire (4) Bureaucratic
i & § -4 9gd el TE e 7
(1) wfee (2) arBeiEE
(3) zEEY Weq (4) T

SET-X

(1) Bonus

(3) dJob security

& q FH-E -fria s § 7

Code-D
: Qu;?on Questions
96. | Which of these is a non-financial incentive?

(2) Profit-sharing

(4) Commission

(1) 4" (2) -G
(3) FH-g (4) FHIA
97. | Which of the following is a barrier to effective communication?
(1) Clarity (2) Poor listening
(3) Feedback (4) Open culture
Pt & § M-8 T96 §9R G 2 7
(1) wgsean (2) GE Hq9
(3) whghe (4) G e
98. | What is the first step in the process of controlling?

() I T # e
(3) fsaEs H9d

(1) Comparing actual performance (2) Taking corrective action
(3) Measuring performance (4) Setting performance standards
frior 1 gfeaT § ORI 408 7

@ §Wm§m
@) FERe 9w e

UG-EE-June-2025 (Commerce 4 Year) Code-D
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99. | What is the primary objective of financial management?
(1) Maximizing sales revenue (2) Reducing production costs
(3) Maximizing owner's wealth (4) Minimizing tax liability
foxit e o ot SR w18 7 |
(1) fIeg o SRR (2) IEA SR HIAT
(3) ®@ F & AEHTEBT (4) X A FATHHT
100. | Which of the following is considered a financing decision?
(1) Buying new machinery (2) Investingin training‘programs

(3) Issuingbonds toraise funds (4) Choosing suppliers
et ® & @F-ar e fofg g9 o R 2

1) T A=l @ gl (2) uRw HEE # g
3) MY o= & 8 dfvs 90 & (4) Rl @ o

UG-EE-June-2025 (Commerce 4 Year) Code-D
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